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In practice it is quite customary that an alternative is evaluated by means of n ≥ 2 grades  
x

1
, ..., x

n
, each of which taking an integer value from 1 («bad») to m ≥ 3 («perfect»). Thus,  

a problem arises to rank the set X of all n-dimensional vectors x with integer components from  
1 to m. Under the assumption that a low grade in the vector x = (x

1
, ..., x

n
) cannot be compen-

sated by (any number of) high grades, in this paper we introduce a notion of the enumerating 
preference function for the weak order on X, generated by the threshold rule, and evaluate this 
function explicitly. This permits us also to evaluate all equivalence classes and indifference classes 
of the weak order. An algorithm of ordering of monotone representatives of indifference classes 
is given, which corresponds to the weak order on X. A dual model to that considered above is 
presented including an explicit dual enumerating preference function and the ordering algorithm 
of corresponding monotone representatives.
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5�	 ��	��� �!  ��� ����	������ �! ��	!	�	��	�$ ����� �� 6��	7 �� ��	
�������	 ��#�������� �! � �	������	�$ ��� ������8��	7 �� ��	 � ������ ����
6� 9���� :�;$ ��7 ��� 7	�	 ��#	��� �	�	 ��	�	��	7 �� :
;� 5�	 �8����	 �!
���� ���	� �� �� ������8�� � ��� ��� #�7	 �! 7	������ #�����$ �� ����� �
�����#�	������� ���8�	 �! ����	������ �� �����8�� � ���	� ���� ����8��� 5�	
�<��#����� �! ��	 ���	��� 7 ����	������ ��� ��	�	��	7 �� � �	��	� �! �	�	��
���	�� :%;�:=; ��7 :&;�:>;� 5��� ���	� �� � ������8����� �! ��	�	 ������

?� �������	 �� �� @8��	 �8���#��� ���� �� � �	������	 �� 	�� 8��	7 6� #	���
�! n � 2 ���7	� x1, . . . , xn$ 	��� �! ����� ������ �� ���	�	� �� 8	 !��# 1
AB6�7CD �� m � 3 AB�	�!	��CD� 5�8�$ � ���6 	# ����	� �� ���� ��	 �	� X �!
�  nE7�#	������ �	����� x ���� ���	�	� ��#���	��� !��# 1 �� m� ��7	�
��	 ���8#����� ���� �  �� ���7	 �� ��	 �	���� x = (x1, . . . , xn) ������ 6	
��#�	����	7 6� A��� �8#6	� �!D ���� ���7	�$ �� ���� ���	� �	 �����78�	
� ������ �! ��	 	�8#	������ ��	!	�	��	 !8������ !�� ��	 �	�� ��7	� �� X $
�	�	���	7 6� ��	 ���	��� 7 �8 	$ ��7 	�� 8��	 ���� !8������ 	<� ���� �� 5���
�	�#��� 8� � �� �� 	�� 8��	 �  	@8��� 	��	 � ���	� ��7 ��7�!!	�	��	 � ���	�
�! ��	 �	�� ��7	�� 9� � ������# �! ��7	���� �! #������	 �	��	�	������	�
�! ��7�!!	�	��	 � ���	� �� ���	�$ ����� ����	���7� �� ��	 �	�� ��7	� �� X �
9 78� #�7	 �� ���� �����7	�	7 �6��	 �� ��	�	��	7 ��� 87��� �� 	<� ���� 78� 
	�8#	������ ��	!	�	��	 !8������ ��7 ��	 78� ��7	���� � ������# �! ����	����E
7��� #������	 �	��	�	������	��

5�	 #��� �	�8 �� �! ���� ���	� �	�	 ��	�	��	7 �� ��	 >�� ?��	�������� 
�		���� �! ��	 ����	�� !�� ����� F����	 ��7 �	 !��	 AF�����7�� ����	�����$
�����	� $ F���7�$ G8�	 
��&D$ �	#����� �! ��	 ?�����8�	 �! H8���������	 ����� 
���	��	� �! ������7 ����	����� ��7 �� I�	������� J	�	���� K	����#	�� ��
�?5 AI���6	� 
��&D ��7 ��	 ��� J8����� "����#�� F����	�� A������ ����	
����	�����$ ������$ J8����� L	7	������$ K	�	#6	� 
��>D� 
��� �! ��	 �	�8 ��
�! ��	 ���	� �	�	 ����8��	7 �� :%$ &; �����8� ����!��

5��� ���� ��� �8�����	7 6� M�6�������	� K"F9N ��" A������D ��7
59
J9K"�� ��" NN AN�O��� N������7D$ 
��P	�� =����
���� 5�	 �	���7
�8���� ��� � �� ���� � �8�����	7 6� ?��	��� Q���� �! ��	 ����	� ����� �!
"����#��� �� N�O��� N������7$ N�� �>E�R�
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M	� X 6	 � !����	 �	� �! � �	������	� �! ���7��� ��� |X | � 2 ��7 n � 1
��7 m � 2 6	 ��� ���	�	��� 5�	 �	� [1, n] = {1, 2, . . . , n} �� ���	���	�	7 ��
��	 �	� �! ����#	�	�� A�� @8� ���	�$ ����	���	�$ ��	���$ 	�����	�D ��7 ��	 �	�
[1,m] = {1, 2, . . . ,m}��� ��	 �	� �! ��7	�	7 ���7	� A����	���D 1 < 2 < · · · < m�
S� �� 	�� 8����� ����	78�	 !�� � �	������	� !��# X �	 8�7	�����7 � #��
E !��# X × [1, n] ���� [1,m]$ �� ���� �� 	��� � �	������	 x ∈ X ��7 	���
����#	�	� i ∈ [1, n] � �	����� 8��@8	 ���7	 xi = E(x, i) ∈ [1,m] �� ������	7�
?� ���� ��� 	��� � �	������	 x ∈ X �� �������	��O	7 6� #	��� �! n ���7	�
x1, . . . , xn !��# [1,m] ��� ��	 #�� x �→ x̂ = E(x, ·) = (x1, . . . , xn) ∈ [1,m]n$
��	�	 ��	  ��� �	� �� ��	 F���	���� ���78�� �! n �	�� [1,m]$ �� 	�$ ��	 �	� �!
�  nE7�#	������ �	����� ���� ��#���	��� !��# [1,m]� ?� �������	 ��	 �	����E
���7	� x̂ = (x1, . . . , xn) !�� �� � �	������	 x ∈ X #�� �	��	�	�� 	<�	�� ���7	�$
@8	���������	 7���$ 7	���	 �	�7����$ �	�� 7���$ 	���

�	 ��	 ����� �� ��87� ��	 ���6 	# �! ������� ��	 	 	#	��� !��# X !��#
��	 � ������#�� ����� �! ��	� 8���� ��	 �	� X̂ = {x̂ : x ∈ X}$ �� ��7���78� 
A	�� 8�����D ���!� 	 �! X � S� � ������� �! X �	 #	�� � ��#� 	�	 ��7 ���������	
6����� �	 ����� �� X ��$ 	@8��� 	�� �$ � �	�� ��7	� �� X 7	!��	7 6	 ��� ����	
X̂ ⊂ [1,m]n ��7 	��� � �	������	 x ∈ X �� ��#� 	�	 � �������	��O	7 6� ���
���!� 	 �	���� x̂$ ���� ��  ��� �! �	�	�� ��� �	 ���8#	 ����8���8� ��	 ���	�
���� ��	 ���!� 	 X̂ !�  � ��	 ��� 	 	�� 8����� ����	$ �� 	�$ X = X̂ = [1,m]n�
5�8� x ∈ X = [1,m]n �!! x = x̂ = (x1, . . . , xn) ���� xi ∈ [1,m]$ ��	�	 T�!!U
#	��� �� 8�8� T�! ��7 �� � �!U� N��	 ���� |X | = mn�

Q��	� ��� ����	�����	 ���	�	�� k ��7 l ���� k � l$ �	 7	���	 6�

[k, l] = {i ∈ {0} ∪ N : k � i � l} = {k, k + 1, . . . , l − 1, l}
��	 A���8�� D �������� ���� ��	 	�7������ k ��7 l ��7 T 	����U |[k, l]| = l−k+1
	<��	����� ��	 �8#6	� �! 	 	#	��� �� [k, l]� �	 � �� �	� [1, 0] = ∅�

Q��	� j ∈ [1,m] ��7 x ∈ X $ �	 7	���	 6�

vj(x) ≡ v
(n)
j (x) = |{i ∈ [1, n] : xi = j}| A���D

��	 #8 ��� ����� �! ���7	 j �� ��	 �	���� x = (x1, . . . , xn) ��7 �	�

Vj(x) ≡ V
(n)
j (x) =

j∑
k=1

vk(x) ��7 V0(x) = 0. A��
D

?� !�  ��� ���� 0 � vj(x) � n$ 0 � Vj−1(x) � Vj(x) � n !�� �  j ∈ [1,m] ��7

m∑
j=1

vj(x) = n �� Vm(x) = n !�� �  x ∈ X. A��%D

V



�	 ��� ���� � 6����� �	 ����� P = Pm−1 �� X = [1,m]n �� ��������	 
�

��� ����
���	 ���� A:R; �! m = 3 ��7 :%$ &; �� ��	 �	�	�� ���	D �����7	7$ ���	�
x, y ∈ X $ �	 ���	� �! m = 2$ ��	� (x, y) ∈ P = P1 �!! v1(x) < v1(y)$ ��7 �!
m � 3$ ��	� (x, y) ∈ P = Pm−1 �!! v1(x) < v1(y) �� ��	�	 	<���� � k ∈ [2,m−1]
�8�� ���� vj(x) = vj(y) !�� �  j ∈ [1, k − 1] ��7 vk(x) < vk(y)� 5�	 ��� 8����
(x, y) ∈ P ��� 6	 ���	���	�	7 �� ��	 �	��	 ���� ��	 � �	������	 x �� ������ � #��	
��	!	��6 	 ���� ��	 � �	������	 y� ?� �� ����� !��# ��	 �	!	�	��	� �6��	 ���� P
�� � ���� ��	�� �� X �� ��	 �	��	 ���� �� ��� A
��D ���������	 A���	� x, y, z ∈ X $
(x, y) ∈ P ��7 (y, z) ∈ P �#� � (x, z) ∈ P DW A
�
D ���	! 	<��	 A(x, x) /∈ P !��
�  x ∈ XDW ��7 A
�%D �	�����	 � ���������	 A���	� x, y, z ∈ P $ (x, y) /∈ P ��7
(y, z) /∈ P �#� � (x, z) /∈ P D� ?� �77�����$ �! x, y ∈ X $ ��	�� A
�RD ���7�����
(x, y) /∈ P �� 	@8��� 	�� �� (y, x) ∈ P �� vj(x) = vj(y) !�� �  j ∈ [1,m]$ ��7
��$ A
�VD X2 \ P �� ��#� 	�	 A(x, y) /∈ P �� (y, x) /∈ P !�� �  x, y ∈ XD�

?� �� ����� A	���$ :
$ �
;D ���� ��� �	�� ��7	� P �� � !����	 �	� X ��� 6	
�������	��O	7 6� ��	 !�#� � �! ��� 	@8��� 	��	 � ���	� 6��	7 �� ��	 !�  �����
������8������ �	� X ′

1 =π(X) ��	�	$ ���	� ∅ �=A⊂X $

π(A) = {x ∈ A : (y, x) �∈ P !�� �  y ∈ A}
�� ��	 �����	 !8������ !�� P A�!� :�$ �	����� 
�%;D� ?�78����	 �$ �! � � 2 ��7

���	#��� 7��P���� �86�	�� X ′
1, . . . , X

′
�−1 �! X �8�� ����

⋃�−1
k=1X

′
k �= X ��	

� �	�7� 7	!��	7$ �	 �	� X ′
� = π

(
X\(

⋃�−1
k=1X

′
k)

)
� ����	 X �� !����	$ ��	�	 	<���� �

8��@8	 �������	 ���	�	� s = s(X) �8�� ����X =
⋃s

�=1X
′
�� �	����� X� = X ′

s−�+1

!�� � ∈ [1, s]$ ��	 ��  	����� {X�}s
�=1 �! �������	 7��P���� �	�� �� ���7 �� 6	

��	 ������ �� ����������� ���

�
 �! ��	 �	�� ��7	� P $ ��7 ��� ��	 !�  �����
�������	������ ����	���� ���	� x, y ∈ X $ (x, y) ∈ P �!! ��	�	 	<��� ��� ���	�	��
k ��7 � �� [1, s] ���� k < � �8�� ���� x ∈ X� ��7 y ∈ Xk� 5�8�$ ��	 !�#� � �!
	@8��� 	��	 � ���	� �����7	� ��	 �������� ������ ������� �! X � 5�	 �8#6	� s
�! 	@8��� 	��	 � ���	� �! ��	 �	�� ��7	� P �� X �	�	���	7 6� ��	 ���	��� 7
�8 	 �� ���	� 6� !��#8 � A��VD 6	 ���

5�	 �<��#� !�� ��	 ���	��� 7 7	������ #����� �	�	  ��7 �� :R;�:=; !�� m = 3
��7 	<�	�7	7 �� :%$ &$ >; !�� ��	 �	�	�� ���	 ��	� m � 2 �� ��6������� ?� ��7	�
�� !��#8 ��	 ��	#$ �	 �		7 � 7	!�������� 9 !8������ ϕ : X → R �� ���7 ��
6	 �������� ���� ��	 !�#� � {X�}s

�=1 �! 	@8��� 	��	 � ���	� �! � �	�� ��7	�
P �!$ ���	� x, y ∈ X $ ��	@8� ��� ϕ(x) > ϕ(y) �� 7� �!! ��	�	 	<��� ���	�	��
k ��7 � �� [1, s] �8�� ���� x ∈ X� ��7 y ∈ Xk� 5�8�$ ϕ �� ���	�	�� ����
{X�}s

�=1 �!! �� �� � ���������� �������� !�� ��	 �	 ����� P �� ��	 �	��	 ����$
���	� x, y ∈ X $ �	 ���	� (x, y) ∈ P �!! ϕ(x) > ϕ(y)� �8�� � !8������ ϕ
A���8��@8	 � 7	�	�#��	7$ �� �	�	�� D � ��� ��	 �� 	 �! �� ����	������ !8������
�� ��	 �	��	 ���� ϕ(x) > ϕ(y) �!! x �� ������ � #��	 ��	!	��6 	 ���� y ����
�	��	�� �� ����	���$ ��7 ϕ(x) = ϕ(y) �!! x ��7 y ��	 ��7�!!	�	��� 5�	 !�  �����

=



�	�8 � ��� ����8��	7 �� :%$ &; ��7 ����	7 �� :>$ 5�	��	# &�%;�

������' 	� � �������� ϕ : X → R �
 � ���������� �������� ��� ��� ����

��	�� P = Pm−1 �� X = [1,m]n ��������	 
� ��� ����
���	 ���� ���� �����

x, y ∈ X� �� 
���
���
 ��� ��������� ��� �����
 A9��D2 ��	 A9�
D2 �� m = 2 ��

����� �����
 A9��Dm� A9�
Dm ��	 A9�%Dm �� m � 3�
A9��Dm �� vj(x) = vj(y) ��� ��� j ∈ [1,m− 1]� ���� ϕ(x) = ϕ(y)W
A9�
Dm �� x � y �� X� ���� ϕ(x) > ϕ(y)� ����� x � y ����
 ���� xi � yi

��� ��� i ∈ [1, n] ��	 ����� �
 �� i0 ∈ [1, n] 
��� ���� xi0 > yi0 W
A9�%Dm ��� ���� k ∈ [3,m] ��� ��������� ���	����� A9�%�kDm ���	
 � ��

vj(x) = vj(y) ��� ��� j ∈ [1,m−k] A�� �

������� �� k = mD� vm−k+1(x)+1 =
vm−k+1(y) �=n− Vm−k(y)� Vm−k+2(x) = n ��	 Vm−k+1(y) + vm(y) = n� ����

ϕ(x) > ϕ(y)�

?! P �� � �	�� ��7	� �� X A�� ������8 ��$ �	�	���	7 6� ��	 ���	��� 7 �8 	D$
��	 ��	��������� �	 ����� I �� X �� ��������  � 7	!��	7 �� !�  ���� ���	� x, y ∈
X $ (x, y) ∈ I �!! (x, y) /∈ P ��7 (y, x) /∈ P � F 	�� �$ I �� �� 	@8��� 	��	
�	 ����� �� X ��7$ 6� ����8	 �! ����	��� A
�RD �6��	$ �	 ���	� (x, y) ∈ I �!!
vj(x) = vj(y) !�� �  j ∈ [1,m]$ �� 	�$ �	����� x ��7 y ��� 6	 �����!��#	7 ��
	��� ���	� 6� �	����� �	�#8������� �! ��	�� ����7����	�� Q��	� x ∈ X $ �	
7	���	 6� Ix = {y ∈ X : (x, y) ∈ I} ��	 ��	��������� ���

 �! x� ?� ��� �����
�� :>$ M	##� R�RA�D; ���� ��	 !�#� � {X�}s

�=1 ������7	� ���� ��	 @8���	�� �	�
X/I = {Ix : x ∈ X}�

5�	�	 �� � �86�	� X∗ �! X �8�� ���� ��	 �	��������� �! P �� X∗×X∗$ �����
7	���	7 6� P $ �� � ������ ��	�� �� X∗ A�� 	�$ P �� ���������	$ ���	! 	<��	 ��7$
����	��	7$ ��	�$ ���	� x, y ∈ X∗ ���� x �= y$ (x, y) ∈ P �� (y, x) ∈ P D� ?��
������8����� A:&;$ :>$ �	����� R�%;D �� �	��  	7 6	 ��� Q��	� x ∈ X = [1,m]n$
��	�	 	<���� � �	�#8������ σ �! [1, n] A���8��@8	$ �� �	�	�� D �8�� ���� ��	
����7����	� �! ��	 �	����

x∗ = (x1, . . . , xn)∗ = (x∗1, . . . , x
∗
n) = (xσ(1), . . . , xσ(n))

��	 ��7	�	7 �� ���	�7��� ��7	�� x∗1 =xσ(1) �x∗2 =xσ(2) � . . .�x∗n =xσ(n)� 5�	
�	���� x∗$ ����� �� 7	�	�#��	7 8��@8	 �$ �� ��  	7 ��	 �������� �����
��������

�! x A�� �! ��	 ��7�!!	�	��	 � ��� IxD� � 	�� �$ vj(x∗) = vj(x) !�� �  j ∈ [1,m]
�#� ���� (x∗, x) ∈ I ��7 Ix∗ = Ix$ ��7 ��$ x∗ �� �! ��	 !��#�

x∗ = (

v1(x)︷ ︸︸ ︷
1, . . . , 1 ,

v2(x)︷ ︸︸ ︷
2, . . . , 2 , . . . ,

vm−1(x)︷ ︸︸ ︷
m− 1, . . . ,m− 1 ,

vm(x)︷ ︸︸ ︷
m, . . . ,m︸ ︷︷ ︸

n

) =

= (1v1 , 2v2 , . . . , (m− 1)vm−1 ,mvm), A��RD

�



��	 �8#6	� vj = vj(x) 6	��� ��	 #8 ��� ����� �! ��	 ���7	 j �� x∗ ��7 x� ?�
���� !�  ��� �! ��	 #8 ��� ����� �! ��#	 ���7	 j �� O	��$ vj(x) = 0$ ��	� ��	
	<��	����� j0 ��  6	 �#���	7 �� A��RD A	� ��$ ��	 �	���� (1, . . . , 1) !��# [1,m]n

�� ��#� � (1n)$ ��7 �� ��D� Q��	� A ⊂ X $ �	 7	���	 6� A∗ = {x∗ : x ∈ A}
��	 �	� �! �  #������	 �	��	�	������	� �! 	 	#	��� !��# A� ?� �� ����� A�!� :R;
��7 :V; �! m = 3$ ��7 :&; ��7 :>$ M	##� R�RA6D; �! m � 2 �� ��6������D ����

s = |X∗| = |[1,m]n∗| = Cm−1
n+m−1 = C n

n+m−1 =
(n+m− 1)!
n! (m− 1)!

, A��VD

��	�	 Ck
n = n!

k!(n−k)! �� ��	 8�8� 6���#�� ��	!!���	��$ k ∈ [0, n]$ ��7 0! = 1�

5�	 !�  ����� ��� ����	���	� ��  � �� �� �#������� �� 	 6	 �� A�!� :&; ��7
:>$ M	##�� R�% ��7 ��V;D� ���	� x, y ∈ X $

x � y �#� �	� x∗ � y∗, ��7 A��=D

x∗ � y∗ �!! ��	�	 	<���� � k ∈ [1,m− 1] �8�� ���� vj(x) = vj(y) !��

�  j ∈ [1, k − 1] A�� ���7����� �! k = 1D$ vk(x) < vk(y)
��7 Vp(x) � Vp(y) !�� �  p ∈ [k + 1,m− 1] A���� ��

 ��� ���7����� �! k = m− 1D� A���D

L���  �$  	� 8� ����� �8� 6��	! � �� ��	 ����	����� �! ��	 ���	��� 7 �8 	 ����
��	  	<���������� ��7	� ��7 ��	  	<�#�� �8 	�

J	��  ���� � 6����� �	 ����� ∠N �� ��	 �	� R
N �! �  N E7�#	������ 

�	����� ���� �	� ��#���	��� �� ���7 �� 6	 ��	 ������������� ��	�� �!$ ���	�
u = (u1, . . . , uN) ��7 v = (v1, . . . , vN ) !��# R

N $ �	 ���	� u∠Nv �!! ��	�	
	<���� � p ∈ [1, N ] �8�� ���� ui = vi !�� �  i ∈ [1, p− 1] A�� ���7����� �! p = 1$
����	 [1, 0] = ∅D ��7 up < vp� ?� �� �	  ����� ���� ∠N �� �  ��	�� ��7	� ��
R

N W #��	 ��	���	 �$ ∠N �� ���������	 A��	�$ u∠Nv ��7 v∠Nw �#� � u∠NwD$
��	 �	������ �! ∠N �� �! ��	 !��#� ¬(u∠Nv) �!! v∠Nu �� v = u$ ��7 ∠N ��
��������#�8� A��	�$ 	���	� u = v$ �� u∠Nv$ �� v∠NuD�

�	����� X = [1,m]n ���� n � 1 ��7 m � 2 ��7

v(x) = (v1(x), . . . , vm−1(x)) ∈ [0, n]m−1 !�� x ∈ X,

�	 !��7 ����
Pm−1 = {(x, y) ∈ X ×X : v(x)∠m−1v(y)},

��7 ��	 !�  ����� ���	����� �� 7��

��''� D� ����� x, y ∈ X� �� ����� (x, y) ∈ Pm−1 ��� y∗∠nx
∗�

&



����E� L����$ �6�	��	 ���� ��	 ��� 8���� (x, y) ∈ Pm−1 �� 	@8��� 	�� �� ��	
	<���	��	 �! � k ∈ [1,m − 1] �8�� ���� vj(x) = vj(y) !�� �  j ∈ [1, k − 1]
��7 vk(x) < vk(y)$ ��7 ��	 �	 ����� y∗∠nx

∗ �� 	@8��� 	�� �� ��	 	<���	��	 �! �
p ∈ [1, n] �8�� ���� y∗i = x∗i !�� �  i ∈ [1, p− 1] ��7 y∗p < x∗p�

����

���� ?! (x, y) ∈ Pm−1$ ��	� ������ ���� ����8�� ��	 �6�	������� �6��	
��7 A��
D$ �	 �	� p = Vk(x) + 1 ��7 ���	 ���� p � Vk(y)$ ��7 ��$ p ∈ [1, n]�
����	 vj(x) = vj(y) !�� �  j ∈ [1, k − 1]$ ��	� y∗i = x∗i !�� �  i ∈ [1, p− 1] ��7
y∗p = k < k + 1 � x∗p� ?� !�  ��� ���� y∗∠nx

∗�

������������ N��$  	� y∗∠nx
∗� 5����� ���� ����8�� ��	 �6�	������� �� ��	

6	������� �! ��	 ����!$ �	 �	� k = y∗p ��7 ���	 ���� ��	 ��	@8� ��� k < x∗p
�#� �	� k ∈ [1,m− 1]� S� ���7����� y∗i = x∗i !�� �  i ∈ [1, p− 1]$ �	 !��7 ����
vj(x) = vj(y) !�� �  j ∈ [1, k−1]� M	� 8� �8� q = |{i ∈ [1, p−1] : y∗i = x∗i = k}|�
5�	� vk(y) � q + 1 ��7$ ����	 k = y∗p < x∗p � x∗p+1 � . . . � x∗n$ �	 ���	
vk(x) = q� ?� !�  ��� ���� vk(x) < vk(y)$ ��7 ��$ v(x)∠m−1v(y) �#� ����
(x, y) ∈ Pm−1� �

5�	 ������� �8 	 A�� 	<��	����� ���	��	7 6� �	� :�%;D �� 	<�	����	 � 8�	7
�� ��	  ��	���8�	 �� ����� F����	 ��7 ��� 6	 ��� �	7 �� �	�	�� 
����� �������

����������
 A�!� :��$ �	����� 
�
�%;D� ?� ��	 ����	<� 8�7	� �����7	������ �� �� ��
!�  ���� �� 	�	�� ���	� ���!� 	 �	���� x ��	 �	  ��7	�	7 �	���� x∗ �� ��������	7
��7 x �� ���7 �� 6	 #��	 ��	!	��6 	 ���� y �!! y∗∠nx

∗� ?� ���� �	��	�� �� �� �� 6	
���	7 ���� 5�	��	# 9 �6��	 ��� 6	 ���	���	�	7 �� �	�#� �! ��������  � �	�
�<��#����� �! ����	������ !8������� ϕ �� ��#���	7 �� ��	 �<��#���� ��������	�
8�8�  � �7���	7 �� ��	  ��	���8�	 �� ����� F����	� ���	��	�$ ��	 �	�8 �� ��
��	 �	<� �	����� 
 ���� ���� ��	 ���	��� 7 �	 ����� Pm−1 ��� 6	 	!!	����	 �
� ������#�O	7$ ����� �� ���7 � �����6 	 �� ��	 !��#	���� �! �	�	�� �	�U� ����� 
�	 !��	 !8������� ��

F� ���" ���#���( ��� �"#'�����"! $��E���"%� E#"%���"

?� ��7	� �� ��	�	�� �8� #��� �	�8 ��$ �	 6	��� ���� ��	 !�  ����� �6�	��������

��''� F� �����
� ���� Φ : X → R �
 � ���������� �������� ��� ��� ����

��	�� P = Pm−1 �� X = [1,m]n ��������	 
� ��� ����
���	 ����� ����

Φ(A) = Φ(A∗) ��	 |Φ(A)| = |Φ(A∗)| = |A∗| ��� ��� A ⊂ X, A
��D

����� Φ(A) = {Φ(x) : x ∈ A} �
 ��� ����� �� A ��	�� Φ�

����E� ?� !���$ ���	� l ∈ Φ(A)$ �	 ���	 l = Φ(x) !�� ��#	 x ∈ A$ ��7 ��$
x∗ ∈ A∗ ��7$ 6� �<��# A9��Dm !��# 5�	��	# 9$ Φ(x∗) = Φ(x) = l �#� ����
l ∈ Φ(A∗)� F���	��	 �$ �! l ∈ Φ(A∗)$ ��	� l = Φ(x) !�� ��#	 x ∈ A∗$ ��7

>



��$ ��	�	 	<���� �� a ∈ A �8�� ���� a∗ = x$ �����$ ����� 6� ����8	 �! �<��#
A9��Dm$ ���	� Φ(a) = Φ(a∗) = Φ(x) = l ��7 l ∈ Φ(A)� 5��� ����	� ��	 !����
	@8� ��� �� A
��D� ?� ��7	� �� 	���6 ��� ��	 ����7 	@8� ��� �� A
��D$ �� �8!!��	� ��
�	��!� ���� Φ #��� A∗ ���� R ��P	����	 �� Q��	� x∗, y∗ ∈ A∗ ���� x∗ �= y∗$ 6�
����8	 �! ����	���	� A
�VD ��7 A
�RD �! P !��# �	����� �$ �	 ���	 (x∗, y∗) ∈ P
�� (y∗, x∗) ∈ P A�#� ����$ �� ������8 ��$ ���� �! A = X $ ��	� ��	 �	��������� �!
P �� X∗×X∗ �� �  ��	�� ��7	� �� X∗D$ ��7 ��$ ����	 Φ �� � ��	!	�	��	 !8������
!�� P $ ��	� Φ(x∗) > Φ(y∗) �� Φ(y∗) > Φ(x∗)� 5�8�$ Φ #��� A∗ ���� Φ(A∗)
6�P	����	 �$ ��7 ��$ |Φ(A∗)| = |A∗|� �

?� !�  ��� !��# A
��D ���� ��	 �8#6	� �! 	 	#	��� �� ��	 �#��	 Φ(X) ��
	@8� �� s = |X∗| !��# A��VD$ ��7 �� �� @8��	 ���8�� ��  ��� !�� � ��	!	�	��	
!8������ Φ !�� P #������ X ���� ��	 ���	��� [1, |X∗|]� L���8���	 �$ �8�� �
!8������ ��� 6	 ���	� 	<� ���� � �� � ��#6�������� ��� �� ��	 !�  ����� !����
#��� �	�8 � �! ���� ���	� ���	����

������' D� ��� ��� �������
 n � 1 ��	 m � 2 
� ������  � X = [1,m]n ��	

P = Pm−1 �
 ��� ���� ��	�� �� X ��������	 
� ��� ����
���	 ����� ���� �

�������� Φ ���
 X ���� [1, |X∗|] ��	 �� �
 � ���������� �������� ��� P �� X
��� �� ��� 
� �����
����	 �


Φ(x) =
m∑

j=1

Cm−j
n−Vj(x)+m−j−1 ��� ��� x ∈ X, A
�
D

���� C k+1
k = 0 ��� ��� k ∈ [0,m− 1] ��	 C 0

−1 = 1�

?� �� �� 6	 ���	7 ����$ 6� ����8	 �! A��%D$ ��	  ��� ��� �	�#� �� A
�
D
����	����7��� �� j = m − 1 ��7 j = m ��	 	@8� �� C 1

vm(x) = vm(x) ��7

C 0−1 = 1$ �	��	����	 �� 5�	 !8������ Φ !��# A
�
D ��  6	 ��  	7 ��	 �����������

���������� �������� !�� P �� X �

9� � ����  ��� �! 5�	��	# �$ �	 ��	 �6 	 �� �������	��O	 ��	 !�#� � �!
	@8��� 	��	 � ���	� {X�}s

�=1 �! ��	 �	�� ��7	� P �	�	���	7 6� ��	 ���	��� 7
�8 	 �� �	  �� ��	 !�#� � �! ��7�!!	�	��	 � ���	� {Ix}x∈X �� 5�	��	# % 6	 ���
L�� ����$ �	 �		7 ��	 !�  ����� �8<� ���� �	�8 �$ ����� �� �! ��7	�	�7	�� ���	�	��
��7 �		7	7 �� ��	 ����! �! 5�	��	# ��

������' F� �����
� n � 1 ��	 m � 2 ��� ��� �������
� ��	 
�� n0 = n� ��

������� � 
�����
 �� ��� �������� [1, Cm−1
n+m−1] ��� ����� ���
�
 � ������ ����������

�� m−2 �������
 n1, n2, . . . , nm−2 
���
����� 0 � nj � nj−1 ��� ��� j ∈ [1,m−2]

��� ����

� ∈ [L+ 1, L+ 1 + nm−2], ����� L =
m−2∑
j=1

Cm−j
nj+m−j−1. A
�%D

��



������' G� ����� � ∈ [1, |X∗|]� �� �����
A�D X� = {x ∈ X : Φ(x) = �}W �� ����� ���	
� x ∈ XΦ(x) ��	

Ix = XΦ(x) = {y ∈ X : Φ(y) = Φ(x)} ��� ��� x ∈ X ;

A6D ����� x ∈ X� x ���
 �� X� ��� A�� ��� �������� �� ������� 
D

vj(x) = nj−1 − nj ��� ��� j ∈ [1,m− 2], A
�RD

vm−1(x) = L+ 1 + nm−2 − � ��	 vm(x) = �− L− 1. A
�VD

�	 ���	 ���� ��	 ����	#	�� 6D �! 5�	��	# % ����	�� ��	 !�  ����� @8	������
���	� � !��# [1, s] = [1, |X∗|]$ ���� ��	 ��	 �	����� x ∈ X �����!���� x ∈ X��
5����� ���� ����8�� ��	 ����	#	�� �D �! 5�	��	# %$ ���� ��� 6	 �	!��#8 ��	7
��� !��7 �  �� 8����� x ∈ X �! ��	 	@8����� Φ(x) = �� ?� ���	� ���7�$ ��
5�	��	# %A6D ��	 	@8��� 	��	 � ��� X� �! ��	 �	�� ��7	� P �	�	���	7 6� ��	
���	��� 7 �8 	 �� �	����	7 ��� ��� ��7��� �8#6	� �� 5�	 �8#6	� �! 	 	#	���
�� X� ��� 6	 �� �8 ��	7 �� !�  ���� �! ��	 �	�	��� �	���� x !��# X� �����!�	�
���7������ A
�RD ��7 A
�VD$ ��	�

|X�| =
n!

v1(x)! · · · vm(x)!
=

n!∏m−2
j=1 (nj−1−nj)! · (L+1+nm−2−�)! · (�−L−1)!

.

G� ����E� �E ��� '��" ���#���

5���8���8� ��	 ����!� �	 �		7 ��	 !�  ����� �8##����� ��	�  ��	� ��7��	�
!��#8 � !�� 6���#�� ��	!!���	��� A	� ��$ :��$ !��#8 �� AV�>D ��7 AV���D;D� �! p ��7
q ��	 ����	�����	 ���	�	��$ ��	�

q∑
k=0

C p
p+k = C p

p + C p
p+1 + · · · + C p

p+q = C p+1
p+q+1 = C q

p+q+1. A%��D

����E �E ������' F� ?! ��	�	 ��	 ����	�����	 ���	�	�� n1, n2, . . . , nm−2

�����!���� nj � nj−1 !�� �  j ∈ [1,m− 2] �8�� ���� A
�%D �� 7�$ ��	�$ 6�
����8	 �! A%��D$

1 � L+ 1 � � � L+ 1 + nm−2 �
m−2∑
j=1

Cm−j
n+m−j−1 + 1 + n =

=
m∑

j=1

Cm−j
n+m−j−1 =

m∑
j=1

C n−1
n−1+m−j =

m−1∑
k=0

C n−1
n−1+k = Cm−1

n+m−1. A%�
D

F���	��	 �$ �	 ��� � ��	 ��78����� ���8#	�� �� m !�� 	��� ���	�	� n � 1�
?! m = 2$ ��	� Cm−1

n+m−1 = C 1
n+1 = n+ 1$ nm−2 = n0 = n ��7 L = 0$ ��7 ��$

��



��	 ���	����� �� ���� ���	 �� � ��8�� ���� ?! m = 3$ ��	� Cm−1
n+m−1 = C 2

n+2 ��7
[1, C 2

n+2] =
⋃n

k=0[C
2
k+1 + 1, C 2

k+2] A7��P���� 8����D$ ��7 ��$ ���	� � ∈ [1, C 2
n+2]$

��	�	 	<���� � 8��@8	 n1 ∈ [0, n] �8�� ����

� ∈ [C 2
n1+1 + 1, C 2

n1+2] = [C 2
n1+1 + 1, C 2

n1+1 + 1 + n1],

��7 �� �	#���� �� ���	 ���� L = C 2
n1+1 = C 3−1

n1+3−1−1� N��$ �8����	 ���� ��	
�	�	����� ���� �� 5�	��	# 
 �� 7� !�� ��#	 m � 3 ��7 �  n � 1$ ��7  	�
� ∈ [1, Cm

n+m]� N����� ���� [1, Cm
n+m] =

⋃n
k=0[C

m
k+m−1 + 1, Cm

k+m] A7��P����
8����D$ �	 !��7 � 8��@8	 ���	�	� n1 ∈ [0, n] �8�� ����

Cm
n1+m−1 + 1 � � � Cm

n1+m = Cm
n1+m−1 + Cm−1

n1+m−1,

��7 ��$ 1 � �′ ≡ �−Cm
n1+m−1 � Cm−1

n1+m−1� 9�� ���� ��	 ��78����� ������	���
�� ��	 ���	�	� �′ �	 �6���� � 8��@8	 ��  	����� �! m− 2 ����	�����	 ���	�	��
n′

1, n
′
2, . . . , n

′
m−2 �����!���� n′

j � n′
j−1 !�� �  j ∈ [1,m − 2]$ ��	�	 n′

0 = n1$

�8�� ���� �! L′ =
∑m−2

j=1 Cm−j
n′

j+m−j−1$ ��	�

L′ + 1 � �′ = �− Cm
n1+m−1 � L′ + 1 + n′

m−2.

�	 �	� nj = n′
j−1 !�� �  j ∈ [2,m− 1]� ?� !�  ��� ���� 0 � nj � nj−1 !�� �  

j ∈ [1, (m+ 1) − 2]$ n′
j = nj+1 !�� �  j ∈ [0,m− 2]$

L′ =
m−2∑
j=1

Cm−j
nj+1+m−j−1 =

m−1∑
j=2

Cm+1−j
nj+m−j =

(m+1)−2∑
j=2

C
(m+1)−j
nj+(m+1)−j−1

��7 L+ 1 � � � L+ 1 + n(m+1)−2$ ��	�	

L = Cm
n1+m−1 + L′ =

(m+1)−2∑
j=1

C
(m+1)−j
nj+(m+1)−j−1,

��7 ���	����� A
�%D !�  ��� ���� m �	� ��	7 6� m+ 1� �

����E �E ������' D� �	 6	��� ���� ������� ��	 �	�	����� ����� �	 ��� �
��	 ��78����� ���8#	�� �� m � 2 !�� 	��� ���	�	� n � 1 ��7 7���7	 ��	 ����!
���� �	�	�� ��	�� !�� � ������

���� !� �8����	 ���� m = 2� �	 ���	� X = [1, 2]n$ (x, y) ∈ P = P1 �!!
v1(x) < v1(y)$ v1(x)+v2(x) = n �! x, y ∈ X $ X∗ = {(1n−k, 2k) : 0 � k � n} A��

��	 �������� A��RDD ��7 |X∗| = n+ 1� M	� Φ : X ����→ [1, n+ 1] 6	 � ��	!	�	��	
!8������ !�� P �� X $ ��7 ��$ �<��#� A9��D2 ��7 A9�
D2 !��# 5�	��	# 9 ��	
�����!�	7� 5�	� Φ #��� X∗ ���� [1, n+ 1] 6�P	����	 �� N����� ���� ��	 �	 �����

�




P ������7	� ���� � �� X∗ ��7 (2n)�(1, 2n−1)� . . .�(1n−1, 2)�(1n) �� X$
�	 !��7 !��# �<��# A9�
D2 ���� Φ(2n)>Φ(1, 2n−1)>. . .>Φ(1n−1, 2)>Φ(1n)�
5�	�	 ��	 n+1 7�!!	�	�� �� 8	� �� ���� ����� �! ��	@8� ���	� ��7$ ����	 ��	 �#��	
�! X∗ 8�7	� Φ �� [1, n+ 1]$ ��	� Φ(1n)=1$ Φ(1n−1, 2)=2$ . . . $ Φ(1, 2n−1)=n
��7 Φ(2n) = n + 1$ ��7 ��$ Φ(1n−k, 2k) = k + 1 !�� �  k ∈ [0, n]� ?� !�  ���
���� �! x ∈ X $ ��	� x∗ = (1n−k, 2k) ���� k = v2(x∗) = v2(x)$ ��7 ��$ 6� �<��#
A9��D2$ �	 �	�

Φ(x) = Φ(x∗) = v2(x) + 1 !�� �  x ∈ X = [1, 2]n. A%�%D

F 	�� �$ ��	 !8������ Φ !��# A%�%D$ ����� �� �! ��	 !��# A
�
D ���� m = 2$
#��� X ���� [1, n+ 1] = [1, |X∗|] ��7$ 6� ����8	 �! A��%D ���� m = 2$ �����!�	�
�<��#� A9��D2 ��7 A9�
D2$ ��7 ��$ �� �� � ��	!	�	��	 !8������ !�� P = P1 �� X �

5�8�$ 5�	��	# � �� 	���6 ���	7 !�� m = 2 ��7 �  ���	�	� n � 1�

���� "� N�� �8����	 ���� ��	 �	�	����� ���� �� 7� !�� ��#	 m�2 ��7 �  
n�1$ ��7  	� 8� ���� ���� �� �	#���� �� �7 !�� m+ 1 ��7 �  n�1$ �� �	  �

M	� X = [1,m + 1]n� 5�	 �	�� ��7	� P = Pm �� X �	�	���	7 6� ��	
���	��� 7 �8 	 �� ���	� !�� x, y ∈ X 6�� (x, y) ∈ P �!! v1(x) < v1(y) �� ��	�	
	<���� � k ∈ [2,m] �8�� ���� vj(x) = vj(y) !�� �  j ∈ [1, k − 1] ��7 vk(x) <
vk(y)� 9 ��$ �	 ���	�

v1(x) + v2(x) + · · · + vm(x) + vm+1(x) = n !�� �  x ∈ X A%�RD

��7$ 6� ����8	 �! A��VD ���� m �	� ��	7 6� m+1$ |X∗| = |[1,m+1]n∗| = Cm
n+m�

Q��	� i ∈ [0, n]$ �	 �	� X(i) = {x ∈ X : v1(x) = v
(n)
1 (x) = i} ��7

X∗(i) ≡ X(i)∗ = X(i) ∩X∗ = {x∗ ∈ X∗ : (1i, 2n−i) � x∗ � (1i, (m+ 1)n−i)},
��	�	 x � y �� y � x !�� x = (x1, . . . , xn) ��7 y = (y1, . . . , yn) #	��� ����
xk � yk !�� �  k ∈ [1, n]� N��	 ���� X(n) = {(1n)}� M	� 8� !�< i ∈ [0, n − 1]
��7 7	!��	 � !8������ βi : X ′ ≡ [1,m]n−i → X(i) 6� ��	 �8 	�

���	� x′ = (x′1, . . . , x
′
n−i) ∈ X ′$ �	 �	� βi(x′) = (1i, x′1 + 1, . . . , x′n−i + 1).

F 	�� �$ βi #��� X ′ ���� X(i) ��P	����	 � ��7 X ′∗ ���� X∗(i) 6�P	����	 �$ ��7
��$ 6� ����8	 �! A��VD ���� n �	� ��	7 6� n− i$

|X∗(i)| = |X ′∗| = |([1,m]n−i)∗| = Cm−1
(n−i)+m−1 ∀ i ∈ [0, n]. A%�VD

9 ��$ ���	 ����

vj(x′) ≡ v
(n−i)
j (x′) = vj+1(βi(x′)) !�� �  j ∈ [1,m]. A%�=D

N��$ ���8#	 ���� Φ:X ����→ [1, |X∗|] �� � ��	!	�	��	 !8������ !�� Pm �� X �

�%



���� "�� M	� 8� ���� ���� ��	 ��#���	7 !8������ Φi$ 7	!��	7 6� ��	 �8 	
Φi(x′) = Φ(βi(x′))$ x′ ∈ X ′$ �� � ��	!	�	��	 !8������ !�� P ′ = Pm−1 �� X ′� M	�
x′, y′ ∈ X ′� L����$ �8����	 ���� m = 2� S� ��	 7	!������� �! P1$ �	 ���	�
(x′, y′) ∈ P ′ = P1 �!! v1(x′) < v1(y′)$ ��7 ��$ 6� ����8	 �! A%�=D$ ���� ��
	@8��� 	�� �� v1(βi(x′)) = i = v1(βi(y′)) ��7 v2(βi(x′)) < v2(βi(y′))$ ����
��$ (βi(x′), βi(y′)) ∈ P2 = Pm� N��$ �8����	 ���� m � 3� S� ��	 7	!������� �!
Pm−1$ �	 ���	� (x′, y′) ∈ P ′ �!! v1(x′) < v1(y′) �� ��	�	 	<���� � k′ ∈ [2,m− 1]
�8�� ���� vj(x′) = vj(y′) !�� �  j ∈ [1, k′ − 1] ��7 vk′(x′) < vk′(y′)$ �����$
6� ����8	 �! A%�=D$ �� 	@8��� 	�� ��� v2(βi(x′)) < v2(βi(y′)) �� ��	�	 	<���� �
k′ ∈ [2,m− 1] �8�� ���� vj+1(βi(x′)) = vj+1(βi(y′)) !�� �  j ∈ [1, k′ − 1] ��7
vk′+1(βi(x′)) < vk′+1(βi(y′))� ����	 v1(βi(x′)) = i = v1(βi(y′))$ �� !�  ��� ����
(x′, y′) ∈ P ′ �!! ��	�	 	<���� � k ∈ [2,m] �8�� ���� vj(βi(x′)) = vj(βi(y′)) !��
�  j ∈ [1, k − 1] ��7 vk(βi(x′)) < vk(βi(y′))$ �� 	�$ (βi(x′), βi(y′)) ∈ Pm = P �
5�8�$ ���	� m � 2 ��7 x′, y′ ∈ X ′$ (x′, y′) ∈ P ′ �!! (βi(x′), βi(y′)) ∈ P $ ��7
��$ ����	 Φ �� � ��	!	�	��	 !8������ !�� P �� X $ �	 !��7 ����

(x′, y′) ∈ P ′ �!! (βi(x′), βi(y′)) ∈ P �!! Φ(βi(x′)) > Φ(βi(y′))

�!! Φi(x′) > Φi(y′),

����� ����	� ���� Φi : X ′ → R �� � ��	!	�	��	 !8������ !�� ��	 �	�� ��7	� P ′

�� X ′ �	�	���	7 6� ��	 ���	��� 7 �8 	�

���� "
� M	� 8� ���� ����

Φ(X∗(i)) = [Φ(1i, 2n−i),Φ(1i, (m+ 1)n−i)] ∀ i ∈ [0, n]. A%��D

?! x∗ ∈ X∗(i)$ ��	� (1i, 2n−i) � x∗ � (1i, (m + 1)n−i)$ ��7 ��$ 6� �<��#�
A9��Dm+1 ��7 A9�
Dm+1 !�� ��	 ��	!	�	��	 !8������ Φ !�� P �� X A5�	��	# 9D$
�	 �	� Φ(1i, 2n−i) � Φ(x∗) � Φ(1i, (m+1)n−i)$ ����� 	���6 ���	� ��	 ��� 8����
⊂ �� A%��D� F���	��	 �$ �8����	 ���� �  �	� �� ��	 ����� ���7 ��7	 �	� �! A%��D�
����	$ 6� ��	 ���8#�����$ Φ(X) = [1, |X∗|]$ ��7$ 6� A
��D$ Φ(X∗) = Φ(X)$ �	
!��7 ���� � ∈ [1, |X∗|]$ ��7 ��$ ��	�	 	<���� �� x∗ ∈ X∗ �8�� ���� � = Φ(x∗)�
N����� ���� X∗ �� ��	 7��P���� 8���� �! �	�� X∗(k) ��	� �  k ∈ [0, n]$ �	 !��7
� k ∈ [0, n] �8�� ���� x∗ ∈ X∗(k)� ?! �	 ���� ���� k = i$ ��	� � ∈ Φ(X∗(i))$
����� ��#� 	�	� ��	 ����! �! A%��D� ?� !���$ �! k < i$ ��	� v1(x∗) = k < i =
v1(1i, (m + 1)n−i)$ ��7 ��$ 6� ��	 7	!������� �! P $ (x∗, (1i, (m + 1)n−i)) ∈ P
�#� ���� � = Φ(x∗) > Φ(1i, (m + 1)n−i)$ ����� �� � ������7������� ��#� �� �$
�! k > i$ ��	� v1(1i, 2n−i) = i < k = v1(x∗)$ ��	��	 ((1i, 2n−i), x∗) ∈ P $ ��7
��$ Φ(1i, 2n−i) > Φ(x∗) = �$ ����� �� � ������7������ ������ 5�8�$ k = i�

���� "�� Q��	� i ∈ [0, n − 1]$ �	 ��	 ����� �� !��7 � ��	!	�	��	 !8������

Ψi : X ′ ����→ [1, |X ′∗|] !�� P ′ �� X ′ A�� ��	 ��������� �! ��	�� 
 ��7 
�D ��7
��� � ��	 ��78����� ������	��� �� ���

�R



����	 ��	 !8������ Φi !��# ��	� 
� �� � ��	!	�	��	 !8������ !�� P ′ �� X ′$
��	� ��� ���� A%�VD ��7 A
��D$ �	��  ��� ��	 7	!������� �! Φi ��7 ���� βi(X ′∗) =
X∗(i) ��7 ������ ���� ����8�� A%��D$ �	 �	��

|X∗(i)| = |X ′∗| = |Φi(X ′∗)| = |Φ(βi(X ′∗))| = |Φ(X∗(i))| =

= Φ(1i, (m+ 1)n−i) − Φ(1i, 2n−i) + 1. A%�&D

����	 Φ �� � ��	!	�	��	 !8������ !�� P �� X $ ��	� ��� ���� A
��D$ ������ ����
(βi(X ′))∗ = X∗(i) ��7 ������ ���� ����8�� A%��D ���	 ����� ��7 A%�&D$ �	 !��7

Φi(X ′) = Φ(βi(X ′)) = Φ((βi(X ′))∗) = Φ(X∗(i)) =

= Φ(1i, 2n−i)−1+[1,Φ(1i, (m+ 1)n−i)−Φ(1i, 2n−i)+1] =

= Φ(1i, 2n−i)−1+[1, |X ′∗|]. A%�>D

Q��	� x′ ∈ X ′$ �	 �	� Ψi(x′) = Φi(x′) − Φ(1i, 2n−i) + 1� ?� !�  ��� !��#

��	� 
� ��7 A%�>D ���� Ψi : X ′ ����→ [1, |X ′∗|] �� � ��	!	�	��	 !8������ !�� P ′ ��
X ′� ����	 X ′ = [1,m]n−i ��7 P ′ = Pm−1 �� � �	�� ��7	� �� X ′ �	�	���	7 6�
��	 ���	��� 7 �8 	$ 6� ��	 ��78����� ������	���$ ���	� x′ ∈ X ′$ �	 �	��

Ψi(x′) =
m∑

j=1

Cm−j
(n−i)−Vj(x′)+m−j−1,

��7 ��$ ����	$ �� �����	7 	�� �	�$ ��	  ��� �	�# �� ��	 �8# �6��	 ����	����7���
�� j = m �� 	@8� �� C 0

−1 = 1$ �	 �6���� ��	 !�  ����� 	@8� ����

Φi(x′) = Φ(1i, 2n−i) +
m−1∑
j=1

Cm−j
(n−i)−Vj(x′)+m−j−1, x′∈X ′=[1,m]n−i.

A%���D

S� ����8	 �! A��
D ��7 A%�=D$ �	 ���	�

Vj(x′) =
j∑

k=1

vk(x′) =
j∑

k=1

vk+1(βi(x′)) =
j+1∑
k=2

vk(βi(x′)) =

= Vj+1(βi(x′)) − v1(βi(x′)),

��7 ��$ ��	  ��	� ��7	< �� ��	 6���#�� ��	!!���	�� �� A%���D �� 	@8� ��

(n− i)−Vj(x′)+m−j−1 = (n− i)+v1(βi(x′))−Vj+1(βi(x′))+m−j−1.

�V



5����� ���� ����8�� ��	 7	!������� �! Φi ��7 �������� ��	 �8##����� ��7	<
j + 1 �→ j �� A%���D$ �	 !��7 ����$ ���	� x′ ∈ X ′$

Φ(βi(x′)) = Φ(1i, 2n−i) +
m∑

j=2

C
(m+1)−j
(n−i)+v1(βi(x′))−Vj(βi(x′))+m−j . A%���D

Q��	� x ∈ X(i)$ �	 ���	 x∗ ∈ X∗(i) = βi(X ′∗) ��7$ ����	 βi #��� X ′∗ ����
X∗(i) 6�P	����	 �$ ��	�	 	<���� � 8��@8	 x′∗ ∈ X ′∗ �8�� ���� x∗ = βi(x′∗)�
�	����� x′ = x′∗ �� A%���D ��7 ������ ���� vj(βi(x′∗)) = vj(x∗) = vj(x) !�� �  
j ∈ [1,m]$ ��7 ��$ 6� �<��# A9��Dm+1$ Φ(βi(x′∗)) = Φ(x∗) = Φ(x)$ �	 �����	
�� ��	 	@8� ���

Φ(x) = Φ(1i, 2n−i) +
m∑

j=2

C
(m+1)−j
(n−i)+v1(x)−Vj(x)+m−j, x ∈ X(i), A%��
D

��	�	 i ∈ [0, n−1]� N��	 ���� 	@8� ��� A%��
D �� 7� !�� i = n �� �	  � �� !���$ �!
i = n$ ��	� x ∈ X(i) = X(n) �!! v1(x) = n �!! x = (1n)$ (1i, 2n−i) = (1n, 20) =
(1n) ��7 Vj(x) = n$ ��7 ��$ C

(m+1)−j
m−j = 0 !�� �  j ∈ [2,m]�

?� �	#���� �� �� �8 ��	 ��	 �� 8	 Φ(1i, 2n−i) �� A%��
D� L�� ����$ �	 �		7
��	 !�  ����� 	@8� ����

Φ(1i, 2n−i) = Φ(1i+1, (m+ 1)n−(i+1)) + 1 !�� �  i ∈ [0, n− 1]. A%��%D

���� "	� #���� �� A%��%D� L����$ ���	 ���� Φ(1n) = 1 ��7 Φ((m + 1)n) =
|X∗|� ?� !���$ ���	� x ∈ X $ �	 ���	 (m + 1)n � x � (1n)$ ��7 ��$ 6� �<��#�
A9��Dm+1 ��7 A9�
Dm+1$ �	 ���	 Φ((m + 1)n) � Φ(x) � Φ(1n)$ ��7 ����	

Φ : X ����→ [1, |X∗|]$ ��	 7	���	7 	@8� ���	� !�  ���

?� ��7	� �� ����	 A%��%D$  	� 8� !�< i ∈ [0, n−1]� L�� ��	 ���	 �! 6�	����$ �	
�	� z∗ = (1i, 2n−i) ��7 w∗ = (1i+1, (m+ 1)n−(i+1))� N��	 ����$ ����	 v1(z∗) =
i < i+ 1 = v1(w∗)$ ��	� (z∗, w∗) ∈ P $ ��7 ��$ Φ(z∗) > Φ(w∗)� L�� ��� x∗ ∈⋃ i

k=0X
∗(k) A7��P���� 8����D �	 ���	 Φ(z∗) � Φ(x∗) � Φ((m + 1)n) = |X∗|�

�� !���$ �! x∗ ∈ X∗(k) ���� k ∈ [0, i − 1]$ ��	� v1(x∗) = k < i = v1(z∗)$ ��7
��$ (x∗, z∗) ∈ P �#� ���� Φ(x∗) > Φ(z∗)$ ��7 �! x∗ ∈ X∗(i)$ ��	� x∗ � z∗$
��7 ��$ 6� �<��# A9�
Dm+1$ Φ(x∗) � Φ(z∗)� ��#� �� �$ �! y∗ ∈ ⋃n

k=i+1X
∗(k)

A7��P���� 8����D$ ��	� 1 = Φ(1n) � Φ(y∗) � Φ(w∗)� �� !���$ �! y∗ ∈ X∗(i+ 1)$
��	� y∗ � w∗$ ��7 ��$ 6� �<��# A9�
Dm+1$ Φ(y∗) � Φ(w∗)$ ��7 �! y∗ ∈ X∗(k)
���� i + 1 < k � n$ ��	� v1(w∗) = i + 1 < k = v1(y∗)$ ��7 ��$ (w∗, y∗) ∈ P
�#� ���� Φ(w∗) > Φ(y∗)� ?� !�  ��� ����

Φ
(⋃ i

k=0X
∗(k)

) ⊂ [Φ(z∗), |X∗|] ��7

Φ
(⋃ n

k=i+1X
∗(k)

) ⊂ [1,Φ(w∗)],

�=



��7$ ����	 X∗ =
⋃n

k=0X
∗(k) =

(⋃ i
k=0X

∗(k)
) ∪ (⋃ n

k=i+1X
∗(k)

)
A7��P����

8����D$ �	 !��7

[1, |X∗|] = Φ(X∗) = Φ
(⋃ n

k=0X
∗(k)

) ⊂ [1,Φ(w∗)] ∪ [Φ(z∗), |X∗|],
��	�	 Φ(w∗) < Φ(z∗)� ����	 ��	 ���	��� � �� ���� ��� 8���� ��	 ���8�� $ �	 �	�
Φ(w∗) + 1 = Φ(z∗)$ ��7 	@8� ��� A%��%D !�  ����

���� "�� ?� ��7	� �� 	���6 ��� 	@8� ��� A
�
D !�� m + 1 !��# A%��
D$  	�
i ∈ [0, n] ��7  	� 8� �� �8 ��	 ��	 �� 8	 Φ(1i, 2n−i)� S� ����8	 �! A%��%D$ A%�&D$
A%�VD ��7 A%��D$ �	 ���	�

Φ(1i, 2n−i) = Φ(1i+1, (m+1)n−(i+1))−Φ(1i+1, 2n−(i+1))+1+Φ(1i+1, 2n−(i+1))

= |X∗(i+ 1)| + Φ(1i+1, 2n−(i+1)) =

= |X∗(i+ 1)| + |X∗(i+ 2)| + · · · + |X∗(n)| + Φ(1n, 20) =

=
n∑

l=i+1

Cm−1
(n−l)+m−1 + Φ(1n) =

n−i−1∑
k=0

Cm−1
(m−1)+k + 1 =

= Cm
(n−i)+m−1 + 1.

?� !�  ��� !��# A%��
D ����$ ���	� i ∈ [0, n] ��7 x ∈ X(i)$

Φ(x) = C
(m+1)−1
(n−i)+(m+1)−1−1 +

m∑
j=2

C
(m+1)−j
(n−i)+v1(x)−Vj(x)+(m+1)−j−1 + 1. A%��RD

N��$ ���	� x ∈ X $ �	 !��7 ���� x ∈ X(i) ���� i = v1(x)$ ��7 ��$ ��� ����
A%��RD ��7 ������ ����$ 6� ����8	 �! A%�RD$

1 = C 0
−1 = C

(m+1)−(m+1)
(n−v1(x))+v1(x)−Vm+1(x)+(m+1)−(m+1)−1,

�	 ���� 87	 ����

Φ(x) =
m+1∑
j=1

C
(m+1)−j
n−Vj(x)+(m+1)−j−1 !�� �  x ∈ X = [1,m+ 1]n,

�� ���	��	7 �� A
�
D !�� m+ 1 �� � ��	 �! m�

5��� ��#� 	�	� ��	 ����! �! ��	 �	�	����� ���� �! 5�	��	# �� N�� �	 �8��
�� ��	 ����! �! ��	 �8!!���	��� �����

���� $� L����$ �	 ����	 ���� ��	 !8������ Φ ���	� 6� A
�
D �� � ��	!	�	��	
!8������ !�� P = Pm−1 �� X = [1,m]n ���� m � 3� L�� ����$ �� �8!!��	� ��
�	��!� ���� Φ �����!�	� ��	 ���		 �<��#� !��# 5�	��	# 9� M	� x, y ∈ X �

��



����� A9��Dm� ?! vj(x) = vj(y) !�� �  j ∈ [1,m − 1]$ ��	�$ 6� ����8	 �!
A��
D ��7 A��%D$ Vj(x) = Vj(y) !�� �  j ∈ [1,m]$ ��7 ��$ !��#8 � A
�
D �#� �	�
Φ(x) = Φ(y)�

����� A9�
Dm� �8����	 ���� x � y �� X � 5�	�$ 6� A��=D$ x∗ � y∗$ ��7 ��$
���7����� �� ��	 ����� �� A���D �� �����!�	7� ?� !�  ��� !��# A��
D ���� Vj(x) =
Vj(y) !�� �  j ∈ [1, k−1]$ Vk(x) < Vk(y)$ Vp(x) � Vp(y) !�� �  p ∈ [k+1,m−1]
��7 Vm(x) = Vm(y) = n� 5�	�	!��	$

Cm−j
n−Vj(x)+m−j−1 = Cm−j

n−Vj(y)+m−j−1 !�� �  j ∈ [1, k − 1],

Cm−k
n−Vk(x)+m−k−1 > Cm−k

n−Vk(y)+m−k−1, ��7

Cm−j
n−Vj(x)+m−j−1 � Cm−j

n−Vj(y)+m−j−1 !�� �  j ∈ [k + 1,m],

��7 ��$ �8##��� ��	�	 A��D	@8� ���	� ��	� �  j ∈ [1,m] ��7 ������ ���� ����8��
	@8� ��� A
�
D$ �	 �	� Φ(x) > Φ(y)�

����� A9�%Dm� Q��	� k ∈ [3,m]$ �8����	 ���� ���7����� A9�%�kDm �� 5�	�E
�	# 9 �� �����!�	7� ����	 vj(x) = vj(y) !�� �  j ∈ [1,m− k]$ �	 ���	�

m−k∑
j=1

Cm−j
n−Vj(x)+m−j−1 =

m−k∑
j=1

Cm−j
n−Vj(y)+m−j−1. A%��VD

�	� ν = vm−k+2(x)� 5�	� ���7����� Vm−k+2(x)=n �#� �	� Vm−k+1(x)=n−ν
��7 Vj(x) = n !�� �  j ∈ [m − k + 2,m]$ ��7 ���7����� vm−k+1(x) + 1 =
vm−k+1(y) �#� �	� Vm−k+1(x) + 1 = Vm−k+1(y)$ ��7 ��$ Vm−k+1(y) = n −
ν + 1 A�� ������8 ��$ �� !�  ��� ���� ν ∈ [2, n]D� L���  �$ ���7����� Vm−k+1(y)+
vm(y) = n �#� �	� Vj(y) = Vm−k+1(y) = n−ν+1 !�� �  j ∈ [m−k+1,m−1]$
Vm(y) = n ��7 vm(y) = ν − 1� ?� !�  ��� ����

m∑
j=m−k+1

Cm−j
n−Vj(x)+m−j−1 = C

m−(m−k+1)
n−Vm−k+1(x)+m−(m−k+1)−1 +

+
m−1∑

j=m−k+2

Cm−j
n−n+m−j−1 + 1 =

= C k−1
ν+k−2 + 1, A%��=D

�&



��7

m∑
j=m−k+1

Cm−j
n−Vj(y)+m−j−1 =

m−1∑
j=m−k+1

Cm−j
n−(n−ν+1)+m−j−1 + 1 =

=
m−1∑

j=m−k+1

Cm−j
ν−2+m−j + 1 =

m∑
j=m−k+1

C ν−2
ν−2+m−j =

=
k−1∑
j=0

C ν−2
ν−2+j = C k−1

ν−2+k, A%���D

��	�	 	@8� ��� A%���D !�  ��� !��# A%��D� N��$ A%��VD�A%���D ��7 A
�
D �#� �
���� Φ(x) = Φ(y) + 1 > Φ(y)$ �� ���	��	7�

���� %� L���  �$ �	 ���� ���� Φ : X ����→ [1, |X∗|]$ ���� ��$ Φ(X) = [1, |X∗|]�
Q��	� x ∈ X $ �	 ���	 (1n) � x � (mn)$ ��7 ��$ 6� �<��#� A9��Dm ��7

A9�
Dm$ �	 !��7 Φ(1n) � Φ(x) � Φ(mn)� ����	 Vj(1n) = n ��7 Vj(mn) = 0 !��

�  j ∈ [1,m − 1]$ �	 �	�� Φ(1n) =
∑m−1

j=1 Cm−j
m−j−1 + 1 = 1 ��7$ 6� ����8	

�! A%�
D ��7 A��VD$ Φ(mn) =
∑m

j=1 C
m−j
n+m−j−1 = |X∗|$ ��7 ��$ Φ(x) �� ��

[Φ(1n),Φ(mn)] = [1, |X∗|] �#� ���� Φ(X) ⊂ [1, |X∗|]�
?� ��7	� �� ����	 ��	 �	�	��	 ��� 8���� [1, |X∗|] ⊂ Φ(X)$ �	  	� � 6	 ��

[1, |X∗|] = [1, Cm−1
n+m−1] ��7 ��� � 5�	��	# 
� ��	�	 �� � 8��@8	 ��  	����� �!

����	�����	 ���	�	�� n1, n2, . . . , nm−2 �����!���� nj � nj−1 !�� �  j ∈ [1,m−2]
�8�� ���� A
�%D �� 7�� F����7	� � �	���� x ∈ X = [1,m]n A�	  D 7	!��	7 6�
	@8� ���	� A
�RD ��7 A
�VD� 5�	�$ ���	� j ∈ [1,m− 2]$ �	 ���	�

Vj(x) =
j∑

k=1

vk(x) =
j∑

k=1

(nk−1 − nk) = n0 − nj = n− nj

��7 n− Vj(x) = nj $ ��7 ��$ 6� ����8	 �! A
�
D ��7 A
�%D$ �	 �	��

Φ(x) =
m−2∑
j=1

Cm−j
n−Vj(x)+m−j−1 + vm(x) + 1 =

=
m−2∑
j=1

Cm−j
nj+m−j−1 + (�− L− 1) + 1 = �.

?� !�  ��� ���� � ∈ Φ(X)$ ��7 ��$ [1, |X∗|] ⊂ Φ(X)�
5��� ��#� 	�	� ��	 ����! �! 5�	��	# �� �

�>



����E �E ������' G� A�D 5� 6	��� ����$ �	 ���	 ����$ 6� ����8	 �! ����	���
A
�RD !��# �� =$ ���	� x, y ∈ X $ �	 ���	� (y, x) /∈ P �!! (x, y) ∈ P �� vj(x) =
vj(y) !�� �  j ∈ [1,m− 1]� ����	$ 6� 5�	��	# �$ Φ �� � ��	!	�	��	 !8������ !��
P �� X A�!� � �� ����	��� A
�VD ��7 �<��# A9��DmD$ �	 �	��

vj(x) = vj(y) !�� �  j ∈ [1,m] �!! Φ(x) = Φ(y). A%��&D

?� !�  ��� ���� (y, x) /∈ P �!! Φ(x) > Φ(y) �� Φ(x) = Φ(y)$ �� 	�$ Φ(x) � Φ(y)�
9� �� A��VD$ �	 �	� s = |X∗|�

S� ��	 7	!������� �! Xs A�	����� �D$ �	 !��7

Xs = X ′
1 = π(X) = {x ∈ X : (y, x) /∈ P !�� �  y ∈ X} =

= {x ∈ X : Φ(x) � Φ(y) !�� �  y ∈ X}.
M	� 8� ���� ���� ��	  ��� �	� �� 	@8� �� {x ∈ X : Φ(x) = s}� ?� !���$  	�
x ∈ X � ?! Φ(x) = s$ ��	� ����	$ 6� 5�	��	# �$ Φ(y) ∈ [1, s] !�� �  y ∈ X $ �	
�	� Φ(x) = s � Φ(y) !�� �  y ∈ X � N��$ �! Φ(x) � Φ(y) !�� �  y ∈ X $ ��	�
�	����� y = (mn) �	 !��7 s � Φ(x) � Φ(y) = Φ(mn) = s$ ��7 ��$ Φ(x) = s�
5�8�$ Xs = {x ∈ X : Φ(x) = s} = {(mn)}�

N��$ �8����	 ���� !�� ��#	 � ∈ [2, s] �	 ���	 � �	�7� ����� ���� Xk

�� 	@8� �� {x ∈ X : Φ(x) = k} !�� �  k ∈ [�, s]$ ��7  	� 8� ���� ����
X�−1 = {x ∈ X : Φ(x) = �− 1}� S� ��	 7	!�������$

X�−1 = X ′
s−(�−1)+1 = X ′

s−�+2 = π(X \ (
⋃ s−�+1

k=1 X ′
k))

�� ��	 �	� �! �  x ∈ X \ (
⋃ s−�+1

k=1 X ′
k) �8�� ���� (y, x) /∈ P !�� �  y ∈ X �����

 �	 �8���7	 �!
⋃ s−�+1

k=1 X ′
k� ����	$ ����� 6� ��	 7	!�������$ Xk = X ′

s−k+1 !��
�  k ∈ [�, s] ��$ 	@8��� 	�� �$ X ′

k = Xs−k+1 !�� �  k ∈ [1, s − � + 1]$ 6� ��	
������	��� �6��	$ �	 !��7

s−�+1⋃
k=1

X ′
k =

s⋃
k=�

Xk = {x ∈ X : Φ(x) ∈ [�, s]},

��7 ��$ 5�	��	# � �#� �	�

X�−1 = {x ∈ X : Φ(x) ∈ [1, �− 1] ��7 Φ(x) � Φ(y) !�� �  y ∈ X

�8�� ���� Φ(y) ∈ [1, �− 1]}.
�	 � ��# ���� X�−1 = {x ∈ X : Φ(x) = � − 1}W �� !���$ ���	� x ∈ X $ �	
���	� � 	�� �$ �! Φ(x) = �− 1$ ��	� x ∈ X�−1$ ��7 �! x ∈ X�−1$ ��	�$ 6� ����8	
�! 5�	��	# � ��7 	@8� ��� Φ(X) = [1, s]$ �	 ��� �����	 � y ∈ X �8�� ����
Φ(y) = �− 1$ ��7 ��$ �− 1 � Φ(x) � Φ(y) = �− 1 �#� ���� Φ(x) = �− 1� ?�
���� ��� �	 ���	 ����	7 ���� X� = {x ∈ X : Φ(x) = �} !�� �  � ∈ [1, |X∗|]�


�



N��$ ���	� x∈X $ ��	�	 �� �� �∈ [1, s] �8�� ���� x∈X� ={x∈X:Φ(x)= �}$
��7 ��$ x ∈ XΦ(x)$ �� 	�$ XΦ(x) �� A�� �����	7 �� �� �D ��	 ��7�!!	�	��	 � ��� �!
x$ ����� 	���6 ���	� ��	 	@8� ��� XΦ(x) = Ix�

A6D ?� ��� ����� �� ��	� R �! ��	 ����! �! 5�	��	# � ���� �! x ∈ X �����!�	�
A
�RD ��7 A
�VD$ ��	� Φ(x) = �$ ��7 ��$ 6� ��	# A�D$ x ∈ X��

N��$ �8����	 ���� x ∈ X�$ �� ���� Φ(x) = �� S� 5�	��	# 
$ ��	�	 	<����
� 8��@8	 ��  	����� �! m − 2 ����	�����	 ���	�	�� n1, n2, . . . , nm−2 �����!����
nj � nj−1 !�� �  j ∈ [1,m−2] �8�� ���� ��	 ��� 8���� �� A
�%D �� 7�� F����7	�
� �	���� x′ ∈ X ������ ��	 ����	���	� A
�RD ��7 A
�VD� 5�	� Φ(x′) = �$ ��7 ��$
Φ(x) = Φ(x′)� 5����� ���� ����8�� A%��&D$ �	 !��7 ���� vj(x) = vj(x′) !�� �  
j ∈ [1,m]$ ��7 ��$ x �����!�	� ���7������ A
�RD ��7 A
�VD �� �	  � �

H� 	�!�����'�% ��&�� �" X∗

J	��  ����$ ���	� x, y ∈ X $ �	 ���	� (x, y) ∈ P �!! (x∗, y∗) ∈ P ∗$ ��	�	
P ∗ �� ��	 �	��������� �! ��	 �	 ����� P �� X∗ × X∗$ ��7 ���� P ∗ �� �  ��	��
��7	� �� X∗� ���	��	�$ Ix = Ix∗ !�� �  x ∈ X � ?� !�  ��� ���� �! �	 ��	
���	�	��	7 �� #��	 ����	���	� �! ��	 �	 ����� P �� X $ ��	� �� �8!!��	� �� ��87�
��	# !�� P ∗ �� X∗� J	��  � �� ���� ��	 �	��������� �! ��	 !8������ Φ !��#
A
�
D �� X∗ �� � 6�P	����� 6	��		� X∗ ��7 [1, |X∗|]$ �� ���� ��	 ����� (X∗, P ∗)
��7 ([1, |X∗|], >) ��	 ��7	� ���#������ �� ��	 �	��	 ����$ ���	� x∗, y∗ ∈ X∗$
(x∗, y∗) ∈ P �!! Φ(x∗) > Φ(y∗)�

M	� x ∈ X = [1,m]n� ����	 X =
⋃s

�=1X� A7��P���� 8����D ���� s = |X∗|$
��	�	 	<���� � 8��@8	 � ∈ [1, |X∗|] �8�� ���� x ∈ X�� S� 5�	��	# 
$ ��	
�8#6	� � 7	�	�#��	� 8��@8	 � � ��  	����� �! m − 2 ����	�����	 ���	�	��
n1, n2, . . . , nm−2 ���� ����������	 ����	���	�$ �� ����$ �� ������8 ��$ 	@8� ���	�
A
�RD ��7 A
�VD �� 7� �	����� nm−1 = vm(x) = �− L− 1 ��7 nm = 0$ �	 !��7
���� vm−1(x) = nm−2 − nm−1 ��7 vm(x) = nm−1$ ��7 ��$ 0 � nm−1 � nm−2�
5�8�$ �	 ���	 ����� ����$ ���	� x ∈ X $ ��	�	 	<���� � 8��@8	 ��  	����� �!
m ���	�	�� n1, n2, . . . , nm−1 ��7 nm = 0 �����!���� 0 � nj � nj−1 !�� �  
j ∈ [1,m] �8�� ����

vj(x) = nj−1 − nj !�� �  j ∈ [1,m− 1] ��7 vm(x) = nm−1. AR��D


�



���	��	�$ 5�	��	# %A�D$ A
�%D ��7 7	!�������� �! nm−1 ��7 nm �#� �

Φ(x) = � = L+ nm−1 + 1 =

=
m−2∑
j=1

Cm−j
nj+m−j−1 + C

m−(m−1)
nm−1+m−(m−1)−1 + Cm−m

nm+m−m−1 =

=
m∑

j=1

Cm−j
nj+m−j−1. AR�
D

I� ��	 ���	� ���7$ 78	 �� ��	 8��@8	�	�� �! ��  	����� {nj}m
j=0$ �� �� � 	��

����$ ���	� x ∈ X $ �	 ���	�

nj ≡ nj(x) = n− Vj(x) !�� �  j ∈ [1,m] AR�%D

��7$ �� ������8 ��$ �8#6	�� AR�%D �����!� ���7������ AR��D$ ��7 ��$ ��	 #������	
�	��	�	������	 x∗ �! x �� �! ��	 !��#�

x∗(ñ) =
(
1n−n1 , 2n1−n2 , 3n2−n3 , . . . , (m− 1)nm−2−nm−1 ,mnm−1

)
, AR�RD

��	�	 ñ = (n1, n2, . . . , nm−1)$ n0 = n ��7 nj ∈ [0, nj−1] !�� �  j ∈ [1,m− 1]�
K	���	 6� Ñ ��	 �	� �! �  �8�� �	����� ñ� ?� ���� ��� �	 ���	 ����� ���� ��	
�	� Ñ �� 6�P	����	 �� X∗ ��� ��	 #�� AR�RD A�!� � �� AR�%DD� ���	��	�$ Ñ ��7
X∗ ��	 ��7	� ���#������ �� ��	 !�  ����� �	��	� ���	� ñ = (n1, n2, . . . , nm−1)$
ñ′ = (n′

1, n
′
2, . . . , n

′
m−1) ∈ Ñ $ �	 ���	� (x∗(ñ), x∗(ñ′)) ∈ P ∗ �!! n′

1 < n1 �� ��	�	
	<���� � k ∈ [2,m− 1] �8�� ���� n′

j = nj !�� �  j ∈ [1, k − 1] ��7 n′
k < nk� ?�

!���$ �� ��7	� �� �		 ����$ �� �8!!��	� �� ���	 �� � ���� vj(x∗(ñ)) = nj−1 − nj

��7 vj(x∗(ñ′)) = n′
j−1 − n′

j !�� �  j ∈ [1,m− 1] ��7 n0 = n′
0 = n�

5�8�$ ��	  ��	�� ��7	� �� Ñ $ 	<���	7 �� ��	 ��	���8� ���������$ 7	!��	� ��	
����������� ��	�� �� X∗ ��� AR�RD ����	����7��� �� ��	 #��	 ��	��	� P E��	!E
	��6� ���$ ����� ��� 6	 7	����6	7 6� ��	 !�  ����� �8 	� ����	 �8� ��	 6� ��	
� ������ �! �	����� x∗(ñ) �! ��	 !��# AR�RD �� �8�� � ��� ���� n1 ���8#	�
�8��	����	 � ��	 �� 8	� 0, 1, . . . , n$ ��7 �! n1 �� !�<	7$ ��	� ��	 �8#6	� n2

���8#	� �8��	����	 � ��	 �� 8	� 0, 1, . . . , n1$ ��7 �! n1 ��7 n2 ��	 !�<	7 �� ��	
����	� 0 � n1 � n ��7 0 � n2 � n1$ ��	� ��	 �8#6	� n3 ���8#	� �8��	����	 �
��	 �� 8	� 0, 1, . . . , n2$ ��7 �� ��$ ��7 !���  �$ �! n1, n2, . . . , nm−2 ��	 !�<	7 ��
��	�� �	��	����	 ����	� A0 �n1 �n$ 0 �n2 �n1$ . . . $ 0 �nm−2 �nm−3D$ ��	�
��	 �8#6	� nm−1 ���8#	� �8��	����	 � ��	 �� 8	� 0, 1, . . . , nm−2� 9����7���
�� ��	 � ������#�� ��7	� �� X∗$ �� 	��� x∗ ∈ X∗ ��	�	 ����	����7� � 8��@8	
���8�� �8#6	�$ ����� �� ��	 ��7��� �8#6	� �! x∗ ��7$ �! x∗ �� �! ��	 !��#
AR�RD !�� ��#	 ��  	����� ñ = (n1, n2, . . . , nm−1) ∈ Ñ $ ��	� ���� ��7��� �8#6	�
�! x∗ �� ���	� 6� !��#8 � AR�
D�







"<�#� 	� �! ��	 � ������#�� ��7	����� �! ��	 � ��� �! #������	 �	��	�	�E
�����	� X∗ �! 	 	#	��� !��# X = [1,m]n !�� m = 3, 4, 5 ��7 n = 2, 3, 4, 5 (6, 7)
��	 ��	�	��	7 �� �	����� =�

I� 
#�� ��������& �!!��!����" �J��'���%� �"& ��!�����'�

?! ��	 8�#��� �	�!	����� A@8� ���D �! � �	������	� �� �! #��� ����	��$ �	
��� ��� � ��	 ���	��� 7 �8 	 P = Pm−1 !��# �	����� � �� ���� ��	 �	� �!
� �	������	� X = [1,mn]� ���	�	�$ �! �	 ��	 ���	�	��	7 �� ��  	��� ��	 ���7
!	��8�	 �! � �	������	�$ �	 ���8 7 	#� �� � 7�!!	�	��$ 68� �	 ��	7$ ����	������
A7	������ #�����D ����	78�	$ ����� ��  6	 ��  	7 ��	 	��� ����
���	 �������&

����� 5�	 �����6� ��� �� 7	�	 �� �8�� � 78� #�7	 !�� ���		E���7	7 ��������
��7 � �	�7� 6		� #	�����	7 �� :R;� ?� ���� �	����� �	 7	�	 �� �� �<��#����
��	��� �� �	  �� � ������#� �! ��	 78� ���	��� 7 ����	������ �� ��	 �	�	�� 
���	 ��	� m � 2 �� ��6�������

5�	 78� ����	78�	 �� 6��	7 �� ��	 !�  ����� ������� 9 6����� �	 �����
P d = P d

m−1 �� X = [1,m]n �� ���7 �� 6	 ��������	 
� ��� 	��� ����
���	

���� �����7	7$ ���	� x, y ∈ X $ �	 ���	� �! m = 2$ ��	� (x, y) ∈ P d = P d
1 �!!

v2(y) < v2(x)$ ��7 �! m � 3$ ��	� (x, y) ∈ P d = P d
m−1 �!! vm(y) < vm(x)

�� ��	�	 	<���� � k ∈ [2,m − 1] �8�� ���� vj(x) = vj(y) !�� �  j ∈ [k + 1,m]
��7 vk(y) < vk(x)� 9� �� ��  6	 �		�  ��	�$ ���� ������ ���	� 	<��� � ��	 78� 
#�7	 �� ���� �����7	�	7 �6��	 ���� �  �7������	� �! ��	 78� #�7	 ��� 87���
��	 ������8����� �! ��	 78� 	�8#	������ ��	!	�	��	 !8������ Φd ��7 ��	 78� 
� ������#�� ��7	� �� X∗�

I�D� 
#�� �J��'���%�� ������ 8�	 �! ��	  	<���������� ��7	� A�!� �	�E
���� �D ��7 �������� A���D$ ���	� �� � �	������	 x ∈ X = [1,m]n$ �	 �	�

vd(x) = (vm(x), vm−1(x), . . . , v2(x)) ∈ [0, n]m−1

��7 ���	 ����

P d ≡ P d
m−1 = {(x, y) ∈ X ×X : vd(y)∠m−1v

d(x)}.

�	 ��	 ����� �� �	78�	 ��	 78� ���	��� 7 ����	������ �<��#����� �� 5�	�E
�	# 9� ?� ��7	� �� 7� ����$ �	 �����78�	 � �	�#8������ r �! [1,m] �� !�  ����

r(j) = m− j + 1 !�� �  j ∈ [1,m].

N��	 ���� r �� � 6�P	����� 6	��		� ��	 �	�� [1,m− 1] = {1, 2, . . . ,m − 1} ��7
[m, 2] ≡ {m,m− 1, . . . , 2}$ �	�	����� ��	 ��7	� �! ��	 �8#6	��$ ��7 ��$ ��� �	 !


%



��#�������� r2 = r ◦ r �� ��	 �7	����� �� [1,m− 1] ��7 �� [m, 2]� r(r(j)) = j
!�� �  ����������	 j� Q��	� x = (x1, . . . , xn) ∈ X = [1,m]n$ �	 �	�

�(x) = (r(x1), r(x2), . . . , r(xn)) = (m− x1 + 1,m− x2 + 1, . . . ,m− xn + 1),

��7 ���	 ���� �(�(x)) = x$ ��	�$ �(x′) = x �!! x′ = �(x)�
5�	 !�  ����� ��� ����	���	� AV��D ��7 AV�
D �! � ��  6	 �! �����!�����	�

vj(�(x)) = vr(j)(x) !�� �  x ∈ X ��7 j ∈ [1,m]� AV��D

?� !���$ �	 ���	�

vj(�(x)) = |{i ∈ [1, n] : r(xi) = j}| = |{i ∈ [1, n] : m− xi + 1 = j}| =

= |{i ∈ [1, n] : xi = m− j + 1}| = |{i ∈ [1, n] : xi = r(j)}| =

= vr(j)(x).

?� !�  ��� ���� vj(x) = vr(j)(�(x)) ��7

vd(x) = v(�(x)) ��7 vd(�(x)) = v(x) !�� �  x ∈ X $ AV�
D

6	��8�	

vd(x) = (vm(x), vm−1(x), . . . , v2(x)) = (vr(1)(x), vr(2)(x), . . . , vr(m−1)(x)) =

= (v1(�(x)), v2(�(x)), . . . , vm−1(�(x))) = v(�(x)).

N��$ ���	� x, y ∈ X $ �	 ���	�

(x, y) ∈ P d �!! vd(y)∠m−1v
d(x) �!! v(�(y))∠m−1v(�(x))

�!! (�(y), �(x)) ∈ P AV�%D

��$ 	@8��� 	�� �$ (x, y) ∈ P �!! (�(y), �(x)) ∈ P d� ?� !�  ��� !��# M	##� � ��7
AV�%D ���� (x, y) ∈ P d �!! (�(x))∗∠n(�(y))∗�

S� ����8	 �! AV�%D$ ��	 �	 ����� P d �� X �����!�	� ��	 ����	���	� A
��D�A
�VD
A�! �	 �	� ��	 P �� ��	�	 ����	���	� �� �� = 6� P dD$ ��7 ��$ P d �� � �	��
��7	� �� X � L�� �������	$ ��	 �	������ �! P d �� �! ��	 !��#� ���	� x, y ∈ X $
(x, y) �∈ P d �!! (y, x) ∈ P d �� v(y) = v(x)W �� !���$ �� !�  ��� !��# AV�%D ����

(x, y) �∈ P d �!! (�(y), �(x)) �∈ P �!! [(�(x), �(y)) ∈ P �� v(�(x)) = v(�(y))]

�!! [(y, x) ∈ P d �� vd(x) = vd(y)]$

��7 �� �	#���� �� ���	 ����$ �� ��	� �! A��%D$ ��	 ���7����� Bvj(x) = vj(y) !�� �  
j ∈ [2,m]C �� 	@8��� 	�� �� ��	 ���7����� Bvj(x) = vj(y) !�� �  j ∈ [1,m− 1]C�


R



5��� �6�	������� � �� ����� ���� ��	 ��7�!!	�	��	 �	 ����� Id �� X �	�	���	7
6� P d ������7	� ���� ��	 ��7�!!	�	��	 �	 ����� I�

Id = {(x, y) : (x, y) �∈ P d ��7 (y, x) �∈ P d} = {(x, y) : v(x) = v(y)} = I.

?� ��7	� �� ��	�� ��	 �<��#����� �! ��	!	�	��	 !8������� !�� ��	 �	 ����� P d$
�	 ���	 ���� �! ϕ �� � ��	!	�	��	 !8������ !�� P ��7 ψ �� � ��	!	�	��	 !8������
!�� P d$ ��	�$ ���	� x, y ∈ X $ �	 ���	�

ψ(x) > ψ(y) �!! (x, y) ∈ P d �!! (�(y), �(x)) ∈ P �!! ϕ(�(y)) > ϕ(�(x))

�!! [−ϕ(�(x)) > −ϕ(�(y))]. AV�RD

�	 ���� 87	 ���� ϕ �� � ��	!	�	��	 !8������ !�� P �!! ��	 !8������ ϕd$ 7	!��	7
6� ϕd(x) = −ϕ(�(x)) !�� �  x ∈ X $ �� � ��	!	�	��	 !8������ !�� P d$ ��7 ���	
�	���� ϕd �� � ��	!	�	��	 !8������ !�� P d �!! ��	 !8������ ϕ$ 7	!��	7 !�� x ∈ X 6�
ϕ(x) = −ϕd(�(x))$ �� � ��	!	�	��	 !8������ !�� P � ?� !�  ��� !��# 5�	��	# 9
���� � !8������ ϕd : X → R �� � ��	!	�	��	 !8������ !�� P d �!! ��	 !8������
ϕ(x) = −ϕd(�(x)) �����!�	� �<��#� A9��Dm�A9�%Dm$ ��7 6� ����8	 �! AV�RD ����
ψ �	� ��	7 6� ϕd$ ���	� x, y ∈ X $ �	 ���	�

ϕd(x) > ϕd(y) �!! ϕ(x′) > ϕ(y′)$ ��	�	 x′ = �(y) ��7 y′ = �(x).

��$ �	� ����� x 6� �(y) ��7 y 6� �(x) �� �<��#� A9��Dm�A9�%Dm ��7 ������ ����
����8�� 	@8� ���	� AV��D ��7 AV�
D$ �	 �6���� ��	 !�  ����� A78� D �<��#� !��
!8������ ϕd� 9<��#� A9��Dm ��7 A9�
Dm �	#��� ��	 ��#	$ 6	��8�	 ���7������
Bvd(x) = vd(y)C ��7 Bv(x) = v(y)C ��	 	@8��� 	��$ ��7 �! x � y$ ��	� �(y) �
�(x)$ ��7 ��$ ϕ(�(y)) > ϕ(�(x)) �#� ���� ϕd(x) > ϕd(y)� 5�	 ����7 78� �<��#
���8#	� ��	 !�  ����� !��#�

	J��' A9�%Dd
m� !�� 	��� k ∈ [3,m] ��	 !�  ����� ���7����� A9�%�kDd

m �� 7��
���	� x, y ∈ X $ �! vj(x) = vj(y) !�� �  j ∈ [k + 1,m] A�! k = m$ ���� ���7�����
�� �6�	��D$ vk(y) + 1 = vk(x) �= Vk(x)$ Vk−2(y) = 0 ��7 Vk−1(x) = v1(x)$ ��	�
ϕd(x) > ϕd(y)�

5�	 �6�	�������� �6��	  	�7 �� ��	 !�  ����� ����  ��� �! 5�	��	# 9�

������' K� � �������� ϕd : X → R �
 � ���������� �������� ��� ��� ����

��	�� P d = P d
m−1 �� X = [1,m]n ��������	 
� ��� 	��� ����
���	 ���� ��� ��


���
���
 ��� ��� �����
 A9��D2 ��	 A9�
D2 �� m = 2 �� ����� �����
 A9��Dm�

A9�
Dm ��	 A9�%Dd
m �� m � 3�

I�F� ��� &#�� �"#'�����"! $��E���"%� E#"%���"� J	��  !��# ��	
�6��	 ���� ϕ : X → R �� � ��	!	�	��	 !8������ !�� ��	 �	 ����� P �� X �!!
��	 !8������ ϕd : X → R$ 7	!��	7 6� ϕd(x) = −ϕ(�(x)) !�� �  x ∈ X $ �� �
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��	!	�	��	 !8������ !�� P d �� X � 5����� ���� ����8�� 5�	��	# �$ �	 ���  
 ��� !�� ��	 78� 	�8#	������ ��	!	�	��	 !8������ !�� P d �� X �� ��	 !��#
Φd(x) = c − Φ(�(x))$ x ∈ X $ ��	�	 c �� �� ����������	 �������� �� 6	 !�8�7
6	 ��� Q��	� j ∈ [1,m]$ 	@8� ���	� A��
D ��7 AV��D �#� �

Vj(�(x)) =
j∑

k=1

vk(�(x)) =
j∑

k=1

vr(k)(x) =
j∑

k=1

vm−k+1(x) =
m∑

i=m−j+1

vi(x),

��7 ��$ n− Vj(�(x)) = Vm−j(x)$ ��7 	@8� ��� A
�
D ���	�

Φd(x) = c− Φ(�(x)) = c−
m∑

j=1

Cm−j
Vm−j(x)+m−j−1 = c−

m−1∑
i=0

C i
Vi(x)+i−1.

?! �	 ���� �� ���	 ��	 ����	��� �! Φd ���� Φd #��� X ���� [1, |X∗|]$ ��	� �	
���8 7 ���	 Φd(1n) = 1� ����	 Vi(1n) = n !�� �  i ∈ [1,m− 1]$ ��	�$ 6� ����8	
�! A��
D ��7 A%��D$ �	 �	��

1 = Φd(1n) = c− C 0
−1 −

m−1∑
i=1

C i
n+i−1 = c− 1 −

m−1∑
i=0

C i
(n−1)+i + C 0

n−1 =

= c−
m−1∑
i=0

C n−1
(n−1)+i = c− Cm−1

(n−1)+(m−1)+1 = c− Cm−1
n+m−1,

��7 ��$ �����7��� �� A��VD$ c = 1 + Cm−1
n+m−1 = 1 + |X∗|� 5����� ���� ����8��

���� C 0
−1 = 1$ �	 ���� 87	 ����

Φd(x) = Cm−1
n+m−1 −

m−1∑
i=1

C i
Vi(x)+i−1 !�� �  x ∈ X. AV�VD

N��	 ���� Vi(mn) = 0 !�� �  i ∈ [1,m− 1]$ ��7 ��$ Φd(mn) = |X∗|� 5�8�$ ��
� ����  ��� �! 5�	��	# �$ �	 �	� ��	 !�  �����

������' H� ����� ��� �������
 n � 1 ��	 m � 2� �� X = [1,m]n ��	

P d = P d
m−1 �
 ��� ���� ��	�� �� X ��������	 
� ��� 	��� ����
���	 ����� ����

�� ����� � �������� Φd ���
 X ���� [1, |X∗|] ��	 �
 � ���������� �������� ���

P d �� X ��� �� �
 �� ��� ���� AV�VD�

N��	$ �� ������8 ��$ ���� !8������ AV�VD �����!�	� ��	 �<��#� !��# 5�	��	# S�


=



I�G� 
#�� ��!�����'�% ��&�� �" X∗� ?� ��7	� �� ��	�	�� ��	 78� 
� ������#�� ��7	� �� X∗ ����	����7��� �� ��	 �	�� ��7	� P d$ !�  ����� AR�%D
�	 �	� ni = n − Vi(x) !�� �  x ∈ X ��7 i ∈ [0,m]� ?� !�  ��� ���� n0 = n$
nm = 0 ��7 0 � ni � ni−1 ��7 vi(x) = ni−1 − ni !�� �  i ∈ [1,m]�
5�	�	!��	$ ��	 #������	 �	��	�	������	 x∗ �! x ∈ X �� �! ��	 !��# AR�RD ��	�	
ñ = (nm−1, nm−2, . . . , n2, n1) �� �8�� ���� ni ∈ [0, ni−1] !�� �  i ∈ [1,m− 1]� ?!

ñ′ = (n′
m−1, n

′
m−2, . . . , n

′
2, n

′
1) �� �8�� ���� n′

i ∈ [0, n′
i−1] !�� �  i ∈ [1,m− 1]$

��	� �	 ���	� (x∗(ñ), x∗(ñ′)) ∈ P d �!! n′
m−1 < nm−1 �� ��	�	 	<���� � �8#6	�

k ∈ [1,m− 2] �8�� ���� n′
i = ni !�� �  i ∈ [k + 1,m − 1] ��7 n′

k < nk� ?�
!�  ��� ���� ��	 	��� ����������� ��	�� �� X∗ ��� AR�RD$ ����	����7��� �� ��	
#��	 ��	��	� P dE��	!	��6� ���$ ��� 6	 7	����6	7 6� ��	 !�  ����� �8 	� ����	
�8� ��	 6� ��	 � ������ �! �	����� x∗(ñ) �! ��	 !��# AR�RD �� �8�� � ��� ����
nm−1 ���8#	� �8��	����	 � ��	 �� 8	� 0, 1, . . . , n$ ��7 �! nm−1 �� !�<	7$ ��	� ��	
�8#6	� nm−2 ���8#	� �8��	����	 � ��	 �� 8	� nm−1, nm−1 + 1, . . . , n$ ��7 �!
nm−1 ��7 nm−2 ��	 !�<	7 �� ��	 ����	� 0 � nm−1 � n ��7 nm−1 � nm−2 � n$
��	� ��	 �8#6	� nm−3 ���8#	� �8��	����	 � ��	 �� 8	� nm−2, nm−2 +1, . . . , n$
��7 �� ��$ ��7 !���  �$ �! nm−1, nm−2, . . . , n2 ��	 !�<	7 ��7 �8�� ���� ni �
ni−1 � n !�� �  i ∈ [3,m − 1]$ ��	� ��	 �8#6	� n1 ���8#	� �8��	����	 �
��	 �� 8	� n2, n2 + 1, . . . , n� 9����7��� �� ��	 78� � ������#�� ��7	� �� X∗$
�� 	��� x∗ ∈ X∗ ��	�	 ����	����7� � 8��@8	 ���8�� �8#6	�$ ����� �� ��	
��7��� �8#6	� �! x∗ ��7$ �! x∗ �� �! ��	 !��# AR�RD !�� ��#	 ��  	����� ñ =
(nm−1, nm−2, . . . , n2, n1) �� �6��	$ ��	�$ 6� ����8	 �! AV�VD$ ���� ��7��� �8#6	�
�! x∗ �� 	@8� ��

Φd(x∗) = Cm−1
n+m−1 −

m−1∑
i=1

C i
n−ni+i−1. AV�=D

"<�#� 	� �! ��	 78� � ������#�� ��7	���� �! X∗ = [1,m]n∗ !�� m = 3, 4, 5
��7 n = 2, 3, 4, 5 (6, 7)$ �� ��#���	7 �� ��	 � ������#�� ��7	���� �! X∗ ��
�	����� =$ ��	 ��	�	��	7 �� �	����� ��

L� 	$$�"&�J D� ��M��� �E ��������& ��&���"!� �E X∗

�	�	 �	 ��	�	�� 	<�#� 	� �! ��	 � ������#�� ��7	����� �! X∗ !�� X =
[1,m]n ����m = 3, 4, 5 ��7 n = 2, 3, 4, 5 (6, 7)� 5�	  ��	� ��7	< �� ��	 ����� �! �
�	���� 7	���	� ��� ��7��� �8#6	� ���� �	��	�� �� ��	 � ������#�� ��7	� �� X∗$
�� 	�$ ��	 �� 8	 AR�
D �� A
�
D �� ��	 �	���� x∗ !��# AR�RD A��7 �  �	����� x ∈ Ix∗D�
5�	 ��	��	� ����  ��	� ��7	< �� ��	 #��	 P E��	!	��6 	 �� ��	 ����	����7���
�	����E� �	������	� 5�	 �8#6	� �! 	 	#	��� �� X∗ �� ���	� 6� A��VD$ �����
�� ��	 ��#	 ��#	 �� 	@8� �� ��	 #�<�#� �� 8	 �! Φ �� X∗ ��7 ��	 ��7��� 
�8#6	� �! ��	 #��� P E��	!	��6 	 �	���� (mn)�


�



?! m = 2$ ��	� X = [1, 2]n ��7$ �����7��� �� A��VD$ ��	 �� 8	 s = |X∗| ��
	@8� �� n+1$ ��7 ��	 !8������ A
�
D ���8#	� ��	 !��#� Φ(x) = v2(x)+1� L��
	<�#� 	$ �! n = 5$ �	 ���	 ��	 !�  ����� ���8�� ��7	���� �! X∗�

(1, 1, 1, 1, 1)1, (1, 1, 1, 1, 2)2, (1, 1, 1, 2, 2)3, (1, 1, 2, 2, 2)4, (1, 2, 2, 2, 2)5, (2, 2, 2, 2, 2)6.

_����	� m = 3 �� X = [1, 3]n� "�������� �� �H�G�� ��� ����� s = |X∗| �	 �
���
�� (n + 2)(n + 1)/2� ����� 6, 10, 15, 21, 28, 36 ��� n = 2, 3, 4, 5, 6, 7� ��	���������� ���
	������� ����	���
�� �������� �O�O� �		�
�	 ��� ���
c

Φ(x) =
(v2(x) + v3(x) + 1)(v2(x) + v3(x) + 2)

2
− v2(x) =

=
(n + 1 − v1(x))(n + 2 − v1(x))

2
− v2(x),

����� n = v1(x) + v2(x) + v3(x)� ��� 	�� X∗ �	 ��������
������ ������� �	 ������	�

n = 2c
(1, 1)1, (1, 2)2, (1, 3)3,
(2, 2)4, (2, 3)5, (3, 3)6�

n = 3c
(1, 1, 1)1, (1, 1, 2)2, (1, 1, 3)3,
(1, 2, 2)4, (1, 2, 3)5, (1, 3, 3)6,
(2, 2, 2)7, (2, 2, 3)8, (2, 3, 3)9, (3, 3, 3)10�

n = 4c
(1, 1, 1, 1)1, (1, 1, 1, 2)2, (1, 1, 1, 3)3,
(1, 1, 2, 2)4, (1, 1, 2, 3)5, (1, 1, 3, 3)6,
(1, 2, 2, 2)7, (1, 2, 2, 3)8, (1, 2, 3, 3)9, (1, 3, 3, 3)10,
(2, 2, 2, 2)11, (2, 2, 2, 3)12, (2, 2, 3, 3)13, (2, 3, 3, 3)14, (3, 3, 3, 3)15�

n = 5c
(1, 1, 1, 1, 1)1, (1, 1, 1, 1, 2)2, (1, 1, 1, 1, 3)3,
(1, 1, 1, 2, 2)4, (1, 1, 1, 2, 3)5, (1, 1, 1, 3, 3)6,
(1, 1, 2, 2, 2)7, (1, 1, 2, 2, 3)8, (1, 1, 2, 3, 3)9, (1, 1, 3, 3, 3)10,
(1, 2, 2, 2, 2)11, (1, 2, 2, 2, 3)12, (1, 2, 2, 3, 3)13, (1, 2, 3, 3, 3)14, (1, 3, 3, 3, 3)15,
(2, 2, 2, 2, 2)16, (2, 2, 2, 2, 3)17, (2, 2, 2, 3, 3)18, (2, 2, 3, 3, 3)19, (2, 3, 3, 3, 3)20,

(3, 3, 3, 3, 3)21�

n = 6c
(1, 1, 1, 1, 1, 1)1, (1, 1, 1, 1, 1, 2)2, (1, 1, 1, 1, 1, 3)3,
(1, 1, 1, 1, 2, 2)4, (1, 1, 1, 1, 2, 3)5, (1, 1, 1, 1, 3, 3)6,
(1, 1, 1, 2, 2, 2)7, (1, 1, 1, 2, 2, 3)8, (1, 1, 1, 2, 3, 3)9, (1, 1, 1, 3, 3, 3)10,
(1, 1, 2, 2, 2, 2)11, (1, 1, 2, 2, 2, 3)12, (1, 1, 2, 2, 3, 3)13, (1, 1, 2, 3, 3, 3)14,

(1, 1, 3, 3, 3, 3)15,
(1, 2, 2, 2, 2, 2)16, (1, 2, 2, 2, 2, 3)17, (1, 2, 2, 2, 3, 3)18, (1, 2, 2, 3, 3, 3)19,

(1, 2, 3, 3, 3, 3)20, (1, 3, 3, 3, 3, 3)21,
(2, 2, 2, 2, 2, 2)22, (2, 2, 2, 2, 2, 3)23, (2, 2, 2, 2, 3, 3)24, (2, 2, 2, 3, 3, 3)25,

(2, 2, 3, 3, 3, 3)26, (2, 3, 3, 3, 3, 3)27, (3, 3, 3, 3, 3, 3)28�


&



n = 7c
(1, 1, 1, 1, 1, 1, 1)1, (1, 1, 1, 1, 1, 1, 2)2, (1, 1, 1, 1, 1, 1, 3)3,
(1, 1, 1, 1, 1, 2, 2)4, (1, 1, 1, 1, 1, 2, 3)5, (1, 1, 1, 1, 1, 3, 3)6,
(1, 1, 1, 1, 2, 2, 2)7, (1, 1, 1, 1, 2, 2, 3)8, (1, 1, 1, 1, 2, 3, 3)9, (1, 1, 1, 1, 3, 3, 3)10,
(1, 1, 1, 2, 2, 2, 2)11, (1, 1, 1, 2, 2, 2, 3)12, (1, 1, 1, 2, 2, 3, 3)13, (1, 1, 1, 2, 3, 3, 3)14,

(1, 1, 1, 3, 3, 3, 3)15,
(1, 1, 2, 2, 2, 2, 2)16, (1, 1, 2, 2, 2, 2, 3)17, (1, 1, 2, 2, 2, 3, 3)18, (1, 1, 2, 2, 3, 3, 3)19,

(1, 1, 2, 3, 3, 3, 3)20, (1, 1, 3, 3, 3, 3, 3)21,
(1, 2, 2, 2, 2, 2, 2)22, (1, 2, 2, 2, 2, 2, 3)23, (1, 2, 2, 2, 2, 3, 3)24, (1, 2, 2, 2, 3, 3, 3)25,

(1, 2, 2, 3, 3, 3, 3)26, (1, 2, 3, 3, 3, 3, 3)27, (1, 3, 3, 3, 3, 3, 3)28,
(2, 2, 2, 2, 2, 2, 2)29, (2, 2, 2, 2, 2, 2, 3)30, (2, 2, 2, 2, 2, 3, 3)31, (2, 2, 2, 2, 3, 3, 3)32,

(2, 2, 2, 3, 3, 3, 3)33, (2, 2, 3, 3, 3, 3, 3)34, (2, 3, 3, 3, 3, 3, 3)35,
(3, 3, 3, 3, 3, 3, 3)36�

_����	� m = 4 �� X = [1, 4]n� "�������� �� �H�G�� ��� ����� s = |X∗| �	 �
���
�� (n + 3)(n + 2)(n + 1)/6� ����� 10, 20, 35, 56, 84 ��� n = 2, 3, 4, 5, 6� ��	���������� ���
	������� ����	���
�� �������� �O�O� �		�
�	 ��� ���
c

Φ(x) =
(n − v1(x))(n + 1 − v1(x))(n + 2 − v1(x))

6
+

+
(v3(x) + v4(x) + 1)(v3(x) + v4(x) + 2)

2
− v3(x),

����� n = v1(x)+ v2(x)+ v3(x)+ v4(x)� g� ���� ��� ��������� ��������
�� ��������
�� X∗�

n = 2c
(1, 1)1, (1, 2)2, (1, 3)3, (1, 4)4,
(2, 2)5, (2, 3)6, (2, 4)7,
(3, 3)8, (3, 4)9, (4, 4)10�

n = 3c
(1, 1, 1)1, (1, 1, 2)2, (1, 1, 3)3, (1, 1, 4)4,
(1, 2, 2)5, (1, 2, 3)6, (1, 2, 4)7,
(1, 3, 3)8, (1, 3, 4)9, (1, 4, 4)10,
(2, 2, 2)11, (2, 2, 3)12, (2, 2, 4)13,
(2, 3, 3)14, (2, 3, 4)15, (2, 4, 4)16,
(3, 3, 3)17, (3, 3, 4)18, (3, 4, 4)19, (4, 4, 4)20�

n = 4c
(1, 1, 1, 1)1, (1, 1, 1, 2)2, (1, 1, 1, 3)3, (1, 1, 1, 4)4,
(1, 1, 2, 2)5, (1, 1, 2, 3)6, (1, 1, 2, 4)7,
(1, 1, 3, 3)8, (1, 1, 3, 4)9, (1, 1, 4, 4)10,
(1, 2, 2, 2)11, (1, 2, 2, 3)12, (1, 2, 2, 4)13,
(1, 2, 3, 3)14, (1, 2, 3, 4)15, (1, 2, 4, 4)16,
(1, 3, 3, 3)17, (1, 3, 3, 4)18, (1, 3, 4, 4)19, (1, 4, 4, 4)20,
(2, 2, 2, 2)21, (2, 2, 2, 3)22, (2, 2, 2, 4)23,


>



(2, 2, 3, 3)24, (2, 2, 3, 4)25, (2, 2, 4, 4)26,
(2, 3, 3, 3)27, (2, 3, 3, 4)28, (2, 3, 4, 4)29, (2, 4, 4, 4)30,
(3, 3, 3, 3)31, (3, 3, 3, 4)32, (3, 3, 4, 4)33, (3, 4, 4, 4)34, (4, 4, 4, 4)35�

n = 5c
(1, 1, 1, 1, 1)1, (1, 1, 1, 1, 2)2, (1, 1, 1, 1, 3)3, (1, 1, 1, 1, 4)4,
(1, 1, 1, 2, 2)5, (1, 1, 1, 2, 3)6, (1, 1, 1, 2, 4)7,
(1, 1, 1, 3, 3)8, (1, 1, 1, 3, 4)9, (1, 1, 1, 4, 4)10,
(1, 1, 2, 2, 2)11, (1, 1, 2, 2, 3)12, (1, 1, 2, 2, 4)13,
(1, 1, 2, 3, 3)14, (1, 1, 2, 3, 4)15, (1, 1, 2, 4, 4)16,
(1, 1, 3, 3, 3)17, (1, 1, 3, 3, 4)18, (1, 1, 3, 4, 4)19, (1, 1, 4, 4, 4)20,
(1, 2, 2, 2, 2)21, (1, 2, 2, 2, 3)22, (1, 2, 2, 2, 4)23,
(1, 2, 2, 3, 3)24, (1, 2, 2, 3, 4)25, (1, 2, 2, 4, 4)26,
(1, 2, 3, 3, 3)27, (1, 2, 3, 3, 4)28, (1, 2, 3, 4, 4)29, (1, 2, 4, 4, 4)30,
(1, 3, 3, 3, 3)31, (1, 3, 3, 3, 4)32, (1, 3, 3, 4, 4)33, (1, 3, 4, 4, 4)34, (1, 4, 4, 4, 4)35,
(2, 2, 2, 2, 2)36, (2, 2, 2, 2, 3)37, (2, 2, 2, 2, 4)38,
(2, 2, 2, 3, 3)39, (2, 2, 2, 3, 4)40, (2, 2, 2, 4, 4)41,
(2, 2, 3, 3, 3)42, (2, 2, 3, 3, 4)43, (2, 2, 3, 4, 4)44, (2, 2, 4, 4, 4)45,
(2, 3, 3, 3, 3)46, (2, 3, 3, 3, 4)47, (2, 3, 3, 4, 4)48, (2, 3, 4, 4, 4)49, (2, 4, 4, 4, 4)50,
(3, 3, 3, 3, 3)51, (3, 3, 3, 3, 4)52, (3, 3, 3, 4, 4)53, (3, 3, 4, 4, 4)54, (3, 4, 4, 4, 4)55,

(4, 4, 4, 4, 4)56�

n = 6c
(1, 1, 1, 1, 1, 1)1, (1, 1, 1, 1, 1, 2)2, (1, 1, 1, 1, 1, 3)3, (1, 1, 1, 1, 1, 4)4,
(1, 1, 1, 1, 2, 2)5, (1, 1, 1, 1, 2, 3)6, (1, 1, 1, 1, 2, 4)7,
(1, 1, 1, 1, 3, 3)8, (1, 1, 1, 1, 3, 4)9, (1, 1, 1, 1, 4, 4)10,
(1, 1, 1, 2, 2, 2)11, (1, 1, 1, 2, 2, 3)12, (1, 1, 1, 2, 2, 4)13,
(1, 1, 1, 2, 3, 3)14, (1, 1, 1, 2, 3, 4)15, (1, 1, 1, 2, 4, 4)16,
(1, 1, 1, 3, 3, 3)17, (1, 1, 1, 3, 3, 4)18, (1, 1, 1, 3, 4, 4)19, (1, 1, 1, 4, 4, 4)20,
(1, 1, 2, 2, 2, 2)21, (1, 1, 2, 2, 2, 3)22, (1, 1, 2, 2, 2, 4)23,
(1, 1, 2, 2, 3, 3)24, (1, 1, 2, 2, 3, 4)25, (1, 1, 2, 2, 4, 4)26,
(1, 1, 2, 3, 3, 3)27, (1, 1, 2, 3, 3, 4)28, (1, 1, 2, 3, 4, 4)29, (1, 1, 2, 4, 4, 4)30,
(1, 1, 3, 3, 3, 3)31, (1, 1, 3, 3, 3, 4)32, (1, 1, 3, 3, 4, 4)33, (1, 1, 3, 4, 4, 4)34,

(1, 1, 4, 4, 4, 4)35,
(1, 2, 2, 2, 2, 2)36, (1, 2, 2, 2, 2, 3)37, (1, 2, 2, 2, 2, 4)38,
(1, 2, 2, 2, 3, 3)39, (1, 2, 2, 2, 3, 4)40, (1, 2, 2, 2, 4, 4)41,
(1, 2, 2, 3, 3, 3)42, (1, 2, 2, 3, 3, 4)43, (1, 2, 2, 3, 4, 4)44, (1, 2, 2, 4, 4, 4)45,
(1, 2, 3, 3, 3, 3)46, (1, 2, 3, 3, 3, 4)47, (1, 2, 3, 3, 4, 4)48, (1, 2, 3, 4, 4, 4)49,

(1, 2, 4, 4, 4, 4)50,
(1, 3, 3, 3, 3, 3)51, (1, 3, 3, 3, 3, 4)52, (1, 3, 3, 3, 4, 4)53, (1, 3, 3, 4, 4, 4)54,

(1, 3, 4, 4, 4, 4)55, (1, 4, 4, 4, 4, 4)56,
(2, 2, 2, 2, 2, 2)57, (2, 2, 2, 2, 2, 3)58, (2, 2, 2, 2, 2, 4)59,
(2, 2, 2, 2, 3, 3)60, (2, 2, 2, 2, 3, 4)61, (2, 2, 2, 2, 4, 4)62,
(2, 2, 2, 3, 3, 3)63, (2, 2, 2, 3, 3, 4)64, (2, 2, 2, 3, 4, 4)65, (2, 2, 2, 4, 4, 4)66,
(2, 2, 3, 3, 3, 3)67, (2, 2, 3, 3, 3, 4)68, (2, 2, 3, 3, 4, 4)69, (2, 2, 3, 4, 4, 4)70,

(2, 2, 4, 4, 4, 4)71,

%�



(2, 3, 3, 3, 3, 3)72, (2, 3, 3, 3, 3, 4)73, (2, 3, 3, 3, 4, 4)74, (2, 3, 3, 4, 4, 4)75,
(2, 3, 4, 4, 4, 4)76, (2, 4, 4, 4, 4, 4)77,

(3, 3, 3, 3, 3, 3)78, (3, 3, 3, 3, 3, 4)79, (3, 3, 3, 3, 4, 4)80, (3, 3, 3, 4, 4, 4)81,
(3, 3, 4, 4, 4, 4)82, (3, 4, 4, 4, 4, 4)83, (4, 4, 4, 4, 4, 4)84�

_����	� m = 5 �� X = [1, 5]n� "�������� �� �H�G�� ��� ����� s = |X∗| �	 �
��� ��
(n + 4)(n + 3)(n + 2)(n + 1)/(24)� ����� 15, 35, 70, 126 ��� n = 2, 3, 4, 5� ��	����������
��� 	�� X∗ �	 ��������
������ ������� �	 ������	�

n = 2c
(1, 1)1, (1, 2)2, (1, 3)3, (1, 4)4, (1, 5)5,
(2, 2)6, (2, 3)7, (2, 4)8, (2, 5)9,
(3, 3)10, (3, 4)11, (3, 5)12,
(4, 4)13, (4, 5)14, (5, 5)15�

n = 3c
(1, 1, 1)1, (1, 1, 2)2, (1, 1, 3)3, (1, 1, 4)4, (1, 1, 5)5,
(1, 2, 2)6, (1, 2, 3)7, (1, 2, 4)8, (1, 2, 5)9,
(1, 3, 3)10, (1, 3, 4)11, (1, 3, 5)12,
(1, 4, 4)13, (1, 4, 5)14, (1, 5, 5)15,
(2, 2, 2)16, (2, 2, 3)17, (2, 2, 4)18, (2, 2, 5)19,
(2, 3, 3)20, (2, 3, 4)21, (2, 3, 5)22,
(2, 4, 4)23, (2, 4, 5)24, (2, 5, 5)25,
(3, 3, 3)26, (3, 3, 4)27, (3, 3, 5)28,
(3, 4, 4)29, (3, 4, 5)30, (3, 5, 5)31,
(4, 4, 4)32, (4, 4, 5)33, (4, 5, 5)34, (5, 5, 5)35�

n = 4c
(1, 1, 1, 1)1, (1, 1, 1, 2)2, (1, 1, 1, 3)3, (1, 1, 1, 4)4, (1, 1, 1, 5)5,
(1, 1, 2, 2)6, (1, 1, 2, 3)7, (1, 1, 2, 4)8, (1, 1, 2, 5)9,
(1, 1, 3, 3)10, (1, 1, 3, 4)11, (1, 1, 3, 5)12,
(1, 1, 4, 4)13, (1, 1, 4, 5)14, (1, 1, 5, 5)15,
(1, 2, 2, 2)16, (1, 2, 2, 3)17, (1, 2, 2, 4)18, (1, 2, 2, 5)19,
(1, 2, 3, 3)20, (1, 2, 3, 4)21, (1, 2, 3, 5)22,
(1, 2, 4, 4)23, (1, 2, 4, 5)24, (1, 2, 5, 5)25,
(1, 3, 3, 3)26, (1, 3, 3, 4)27, (1, 3, 3, 5)28,
(1, 3, 4, 4)29, (1, 3, 4, 5)30, (1, 3, 5, 5)31,
(1, 4, 4, 4)32, (1, 4, 4, 5)33, (1, 4, 5, 5)34, (1, 5, 5, 5)35,
(2, 2, 2, 2)36, (2, 2, 2, 3)37, (2, 2, 2, 4)38, (2, 2, 2, 5)39,
(2, 2, 3, 3)40, (2, 2, 3, 4)41, (2, 2, 3, 5)42,
(2, 2, 4, 4)43, (2, 2, 4, 5)44, (2, 2, 5, 5)45,
(2, 3, 3, 3)46, (2, 3, 3, 4)47, (2, 3, 3, 5)48,
(2, 3, 4, 4)49, (2, 3, 4, 5)50, (2, 3, 5, 5)51,
(2, 4, 4, 4)52, (2, 4, 4, 5)53, (2, 4, 5, 5)54, (2, 5, 5, 5)55,
(3, 3, 3, 3)56, (3, 3, 3, 4)57, (3, 3, 3, 5)58,
(3, 3, 4, 4)59, (3, 3, 4, 5)60, (3, 3, 5, 5)61,

%�



(3, 4, 4, 4)62, (3, 4, 4, 5)63, (3, 4, 5, 5)64, (3, 5, 5, 5)65,
(4, 4, 4, 4)66, (4, 4, 4, 5)67, (4, 4, 5, 5)68, (4, 5, 5, 5)69, (5, 5, 5, 5)70�

n = 5c
(1, 1, 1, 1, 1)1, (1, 1, 1, 1, 2)2, (1, 1, 1, 1, 3)3, (1, 1, 1, 1, 4)4, (1, 1, 1, 1, 5)5,
(1, 1, 1, 2, 2)6, (1, 1, 1, 2, 3)7, (1, 1, 1, 2, 4)8, (1, 1, 1, 2, 5)9,
(1, 1, 1, 3, 3)10, (1, 1, 1, 3, 4)11, (1, 1, 1, 3, 5)12,
(1, 1, 1, 4, 4)13, (1, 1, 1, 4, 5)14, (1, 1, 1, 5, 5)15,
(1, 1, 2, 2, 2)16, (1, 1, 2, 2, 3)17, (1, 1, 2, 2, 4)18, (1, 1, 2, 2, 5)19,
(1, 1, 2, 3, 3)20, (1, 1, 2, 3, 4)21, (1, 1, 2, 3, 5)22,
(1, 1, 2, 4, 4)23, (1, 1, 2, 4, 5)24, (1, 1, 2, 5, 5)25,
(1, 1, 3, 3, 3)26, (1, 1, 3, 3, 4)27, (1, 1, 3, 3, 5)28,
(1, 1, 3, 4, 4)29, (1, 1, 3, 4, 5)30, (1, 1, 3, 5, 5)31,
(1, 1, 4, 4, 4)32, (1, 1, 4, 4, 5)33, (1, 1, 4, 5, 5)34, (1, 1, 5, 5, 5)35,
(1, 2, 2, 2, 2)36, (1, 2, 2, 2, 3)37, (1, 2, 2, 2, 4)38, (1, 2, 2, 2, 5)39,
(1, 2, 2, 3, 3)40, (1, 2, 2, 3, 4)41, (1, 2, 2, 3, 5)42,
(1, 2, 2, 4, 4)43, (1, 2, 2, 4, 5)44, (1, 2, 2, 5, 5)45,
(1, 2, 3, 3, 3)46, (1, 2, 3, 3, 4)47, (1, 2, 3, 3, 5)48,
(1, 2, 3, 4, 4)49, (1, 2, 3, 4, 5)50, (1, 2, 3, 5, 5)51,
(1, 2, 4, 4, 4)52, (1, 2, 4, 4, 5)53, (1, 2, 4, 5, 5)54, (1, 2, 5, 5, 5)55,
(1, 3, 3, 3, 3)56, (1, 3, 3, 3, 4)57, (1, 3, 3, 3, 5)58,
(1, 3, 3, 4, 4)59, (1, 3, 3, 4, 5)60, (1, 3, 3, 5, 5)61,
(1, 3, 4, 4, 4)62, (1, 3, 4, 4, 5)63, (1, 3, 4, 5, 5)64, (1, 3, 5, 5, 5)65,
(1, 4, 4, 4, 4)66, (1, 4, 4, 4, 5)67, (1, 4, 4, 5, 5)68, (1, 4, 5, 5, 5)69, (1, 5, 5, 5, 5)70,
(2, 2, 2, 2, 2)71, (2, 2, 2, 2, 3)72, (2, 2, 2, 2, 4)73, (2, 2, 2, 2, 5)74,
(2, 2, 2, 3, 3)75, (2, 2, 2, 3, 4)76, (2, 2, 2, 3, 5)77,
(2, 2, 2, 4, 4)78, (2, 2, 2, 4, 5)79, (2, 2, 2, 5, 5)80,
(2, 2, 3, 3, 3)81, (2, 2, 3, 3, 4)82, (2, 2, 3, 3, 5)83,
(2, 2, 3, 4, 4)84, (2, 2, 3, 4, 5)85, (2, 2, 3, 5, 5)86,
(2, 2, 4, 4, 4)87, (2, 2, 4, 4, 5)88, (2, 2, 4, 5, 5)89, (2, 2, 5, 5, 5)90,
(2, 3, 3, 3, 3)91, (2, 3, 3, 3, 4)92, (2, 3, 3, 3, 5)93,
(2, 3, 3, 4, 4)94, (2, 3, 3, 4, 5)95, (2, 3, 3, 5, 5)96,
(2, 3, 4, 4, 4)97, (2, 3, 4, 4, 5)98, (2, 3, 4, 5, 5)99, (2, 3, 5, 5, 5)100,
(2, 4, 4, 4, 4)101, (2, 4, 4, 4, 5)102, (2, 4, 4, 5, 5)103, (2, 4, 5, 5, 5)104, (2, 5, 5, 5, 5)105,
(3, 3, 3, 3, 3)106, (3, 3, 3, 3, 4)107, (3, 3, 3, 3, 5)108,
(3, 3, 3, 4, 4)109, (3, 3, 3, 4, 5)110, (3, 3, 3, 5, 5)111,
(3, 3, 4, 4, 4)112, (3, 3, 4, 4, 5)113, (3, 3, 4, 5, 5)114, (3, 3, 5, 5, 5)115,
(3, 4, 4, 4, 4)116, (3, 4, 4, 4, 5)117, (3, 4, 4, 5, 5)118, (3, 4, 5, 5, 5)119, (3, 5, 5, 5, 5)120,
(4, 4, 4, 4, 4)121, (4, 4, 4, 4, 5)122, (4, 4, 4, 5, 5)123, (4, 4, 5, 5, 5)124, (4, 5, 5, 5, 5)125,

(5, 5, 5, 5, 5)126�

�� �������� 	� 
��
�� �� ���
 �������
� ��������� �� X∗

�� ���	 _������ �� ���	��� �!�
���	 �� ��� ���� ��������
�� ��������	 �� X∗ ���
X = [1, m]n ���� m = 3, 4, 5 ��� n = 2, 3, 4, 5 (6, 7)� ��� ����� ����! �� ��� �����
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�� � ������ �	 ��� ������� ��
��� �� ��� ������ ���� ��	���� �� ��� ���� ��������
��
����� �� X∗� �� ��� ��� ����� �G�e� �� �G�G� �� ��� ������ x∗ ���
 �`�`� ���� ��� ������	
x ∈ Ix∗�� ��� ������� ���	 ����� ����! �	 ��� 
��� P d����������� �	 ��� �����	�������
������������������� ��� ��
��� �� ���
���	 �� X∗ �	 ����� �� �H�G�� ����� �� ���
	�
� ��
� �	 �
��� �� ��� 
�!�
�� ����� �� Φd �� X∗ ��� ��� ������� ��
��� �� ���

�	� P d����������� ������ (mn)�

�� m = 2� ���� X = [1, 2]n ���� ��������� �� �H�G�� ��� ����� s = |X∗| �	 �
��� ��
n + 1� ��� ��� �������� �G�G� �		�
�	 ��� ���
c Φd(x) = v2(x) + 1�

_����	� m = 3 �� X = [1, 3]n� "�������� �� �H�G�� ��� ����� s = |X∗| �	 �
���
�� (n + 2)(n + 1)/2� ����� 6, 10, 15, 21, 28, 36 ��� n = 2, 3, 4, 5, 6, 7� ��	���������� ���
�������� �G�G� �		�
�	 ��� ���
c

Φd(x) =
(n + 1)(n + 2)

2
− v1(x) − (v1(x) + v2(x))(v1(x) + v2(x) + 1)

2
.

����� n = v1(x) + v2(x) + v3(x)� ��� 	�� X∗ �	 ������� ���� ��	���� �� ��� ����
��������
�� ����� �	 ������	�

n = 2c
(1, 1)1, (1, 2)2, (2, 2)3,
(1, 3)4, (2, 3)5, (3, 3)6�

n = 3c
(1, 1, 1)1, (1, 1, 2)2, (1, 2, 2)3, (2, 2, 2)4,
(1, 1, 3)5, (1, 2, 3)6, (2, 2, 3)7,
(1, 3, 3)8, (2, 3, 3)9, (3, 3, 3)10�

n = 4c
(1, 1, 1, 1)1, (1, 1, 1, 2)2, (1, 1, 2, 2)3, (1, 2, 2, 2)4, (2, 2, 2, 2)5,
(1, 1, 1, 3)6, (1, 1, 2, 3)7, (1, 2, 2, 3)8, (2, 2, 2, 3)9,
(1, 1, 3, 3)10, (1, 2, 3, 3)11, (2, 2, 3, 3)12,
(1, 3, 3, 3)13, (2, 3, 3, 3)14, (3, 3, 3, 3)15�

n = 5c
(1, 1, 1, 1, 1)1, (1, 1, 1, 1, 2)2, (1, 1, 1, 2, 2)3, (1, 1, 2, 2, 2)4, (1, 2, 2, 2, 2)5,

(2, 2, 2, 2, 2)6�
(1, 1, 1, 1, 3)7, (1, 1, 1, 2, 3)8, (1, 1, 2, 2, 3)9, (1, 2, 2, 2, 3)10, (2, 2, 2, 2, 3)11,
(1, 1, 1, 3, 3)12, (1, 1, 2, 3, 3)13, (1, 2, 2, 3, 3)14, (2, 2, 2, 3, 3)15,
(1, 1, 3, 3, 3)16, (1, 2, 3, 3, 3)17, (2, 2, 3, 3, 3)18,
(1, 3, 3, 3, 3)19, (2, 3, 3, 3, 3)20, (3, 3, 3, 3, 3)21�

n = 6c
(1, 1, 1, 1, 1, 1)1, (1, 1, 1, 1, 1, 2)2, (1, 1, 1, 1, 2, 2)3, (1, 1, 1, 2, 2, 2)4,

(1, 1, 2, 2, 2, 2)5, (1, 2, 2, 2, 2, 2)6, (2, 2, 2, 2, 2, 2)7,
(1, 1, 1, 1, 1, 3)8, (1, 1, 1, 1, 2, 3)9, (1, 1, 1, 2, 2, 3)10, (1, 1, 2, 2, 2, 3)11,

(1, 2, 2, 2, 2, 3)12, (2, 2, 2, 2, 2, 3)13,
(1, 1, 1, 1, 3, 3)14, (1, 1, 1, 2, 3, 3)15, (1, 1, 2, 2, 3, 3)16, (1, 2, 2, 2, 3, 3)17,

%%



(2, 2, 2, 2, 3, 3)18,
(1, 1, 1, 3, 3, 3)19, (1, 1, 2, 3, 3, 3)20, (1, 2, 2, 3, 3, 3)21, (2, 2, 2, 3, 3, 3)22,
(1, 1, 3, 3, 3, 3)23, (1, 2, 3, 3, 3, 3)24, (2, 2, 3, 3, 3, 3)25,
(1, 3, 3, 3, 3, 3)26, (2, 3, 3, 3, 3, 3)27, (3, 3, 3, 3, 3, 3)28�

n = 7c
(1, 1, 1, 1, 1, 1, 1)1, (1, 1, 1, 1, 1, 1, 2)2, (1, 1, 1, 1, 1, 2, 2)3, (1, 1, 1, 1, 2, 2, 2)4,

(1, 1, 1, 2, 2, 2, 2)5, (1, 1, 2, 2, 2, 2, 2)6, (1, 2, 2, 2, 2, 2, 2)7,
(2, 2, 2, 2, 2, 2, 2)8,

(1, 1, 1, 1, 1, 1, 3)9, (1, 1, 1, 1, 1, 2, 3)10, (1, 1, 1, 1, 2, 2, 3)11, (1, 1, 1, 2, 2, 2, 3)12,
(1, 1, 2, 2, 2, 2, 3)13, (1, 2, 2, 2, 2, 2, 3)14, (2, 2, 2, 2, 2, 2, 3)15,

(1, 1, 1, 1, 1, 3, 3)16, (1, 1, 1, 1, 2, 3, 3)17, (1, 1, 1, 2, 2, 3, 3)18, (1, 1, 2, 2, 2, 3, 3)19,
(1, 2, 2, 2, 2, 3, 3)20, (2, 2, 2, 2, 2, 3, 3)21,

(1, 1, 1, 1, 3, 3, 3)22, (1, 1, 1, 2, 3, 3, 3)23, (1, 1, 2, 2, 3, 3, 3)24, (1, 2, 2, 2, 3, 3, 3)25,
(2, 2, 2, 2, 3, 3, 3)26,

(1, 1, 1, 3, 3, 3, 3)27, (1, 1, 2, 3, 3, 3, 3)28, (1, 2, 2, 3, 3, 3, 3)29, (2, 2, 2, 3, 3, 3, 3)30,
(1, 1, 3, 3, 3, 3, 3)31, (1, 2, 3, 3, 3, 3, 3)32, (2, 2, 3, 3, 3, 3, 3)33,
(1, 3, 3, 3, 3, 3, 3)34, (2, 3, 3, 3, 3, 3, 3)35, (3, 3, 3, 3, 3, 3, 3)36�

_����	� m = 4 �� X = [1, 4]n� "�������� �� �H�G�� ��� ����� s = |X∗| �	 �
���
�� (n + 3)(n + 2)(n + 1)/6� ����� 10, 20, 35, 56, 84 ��� n = 2, 3, 4, 5, 6� ��	���������� ���
�������� �G�G� �	 �� ��� ���
c

Φd(x) =
(n + 1)(n + 2)(n + 3)

6
− v1(x) − (v1(x) + v2(x))(v1(x) + v2(x) + 1)

2
−

− (n − v4(x))(n + 1 − v4(x))(n + 2 − v4(x))

6
.

����� n = v1(x) + v2(x) + v3(x) + v4(x)� g� ���� ��� ��������� ���� ��������
��
�������� �� X∗�

n = 2c
(1, 1)1, (1, 2)2, (2, 2)3,
(1, 3)4, (2, 3)5, (3, 3)6,
(1, 4)7, (2, 4)8, (3, 4)9, (4, 4)10�

n = 3c
(1, 1, 1)1, (1, 1, 2)2, (1, 2, 2)3, (2, 2, 2)4,
(1, 1, 3)5, (1, 2, 3)6, (2, 2, 3)7,
(1, 3, 3)8, (2, 3, 3)9, (3, 3, 3)10,
(1, 1, 4)11, (1, 2, 4)12, (2, 2, 4)13,
(1, 3, 4)14, (2, 3, 4)15, (3, 3, 4)16,
(1, 4, 4)17, (2, 4, 4)18, (3, 4, 4)19, (4, 4, 4)20�

n = 4c
(1, 1, 1, 1)1, (1, 1, 1, 2)2, (1, 1, 2, 2)3, (1, 2, 2, 2)4, (2, 2, 2, 2)5,
(1, 1, 1, 3)6, (1, 1, 2, 3)7, (1, 2, 2, 3)8, (2, 2, 2, 3)9,

%R



(1, 1, 3, 3)10, (1, 2, 3, 3)11, (2, 2, 3, 3)12,
(1, 3, 3, 3)13, (2, 3, 3, 3)14, (3, 3, 3, 3)15,
(1, 1, 1, 4)16, (1, 1, 2, 4)17, (1, 2, 2, 4)18, (2, 2, 2, 4)19,
(1, 1, 3, 4)20, (1, 2, 3, 4)21, (2, 2, 3, 4)22,
(1, 3, 3, 4)23, (2, 3, 3, 4)24, (3, 3, 3, 4)25,
(1, 1, 4, 4)26, (1, 2, 4, 4)27, (2, 2, 4, 4)28,
(1, 3, 4, 4)29, (2, 3, 4, 4)30, (3, 3, 4, 4)31,
(1, 4, 4, 4)32, (2, 4, 4, 4)33, (3, 4, 4, 4)34, (4, 4, 4, 4)35�

n = 5c
(1, 1, 1, 1, 1)1, (1, 1, 1, 1, 2)2, (1, 1, 1, 2, 2)3, (1, 1, 2, 2, 2)4, (1, 2, 2, 2, 2)5,

(2, 2, 2, 2, 2)6,
(1, 1, 1, 1, 3)7, (1, 1, 1, 2, 3)8, (1, 1, 2, 2, 3)9, (1, 2, 2, 2, 3)10, (2, 2, 2, 2, 3)11,
(1, 1, 1, 3, 3)12, (1, 1, 2, 3, 3)13, (1, 2, 2, 3, 3)14, (2, 2, 2, 3, 3)15,
(1, 1, 3, 3, 3)16, (1, 2, 3, 3, 3)17, (2, 2, 3, 3, 3)18,
(1, 3, 3, 3, 3)19, (2, 3, 3, 3, 3)20, (3, 3, 3, 3, 3)21,
(1, 1, 1, 1, 4)22, (1, 1, 1, 2, 4)23, (1, 1, 2, 2, 4)24, (1, 2, 2, 2, 4)25, (2, 2, 2, 2, 4)26,
(1, 1, 1, 3, 4)27, (1, 1, 2, 3, 4)28, (1, 2, 2, 3, 4)29, (2, 2, 2, 3, 4)30,
(1, 1, 3, 3, 4)31, (1, 2, 3, 3, 4)32, (2, 2, 3, 3, 4)33,
(1, 3, 3, 3, 4)34, (2, 3, 3, 3, 4)35, (3, 3, 3, 3, 4)36,
(1, 1, 1, 4, 4)37, (1, 1, 2, 4, 4)38, (1, 2, 2, 4, 4)39, (2, 2, 2, 4, 4)40,
(1, 1, 3, 4, 4)41, (1, 2, 3, 4, 4)42, (2, 2, 3, 4, 4)43,
(1, 3, 3, 4, 4)44, (2, 3, 3, 4, 4)45, (3, 3, 3, 4, 4)46,
(1, 1, 4, 4, 4)47, (1, 2, 4, 4, 4)48, (2, 2, 4, 4, 4)49,
(1, 3, 4, 4, 4)50, (2, 3, 4, 4, 4)51, (3, 3, 4, 4, 4)52,
(1, 4, 4, 4, 4)53, (2, 4, 4, 4, 4)54, (3, 4, 4, 4, 4)55, (4, 4, 4, 4, 4)56�

n = 6c
(1, 1, 1, 1, 1, 1)1, (1, 1, 1, 1, 1, 2)2, (1, 1, 1, 1, 2, 2)3, (1, 1, 1, 2, 2, 2)4,

(1, 1, 2, 2, 2, 2)5, (1, 2, 2, 2, 2, 2)6, (2, 2, 2, 2, 2, 2)7,
(1, 1, 1, 1, 1, 3)8, (1, 1, 1, 1, 2, 3)9, (1, 1, 1, 2, 2, 3)10, (1, 1, 2, 2, 2, 3)11,

(1, 2, 2, 2, 2, 3)12, (2, 2, 2, 2, 2, 3)13,
(1, 1, 1, 1, 3, 3)14, (1, 1, 1, 2, 3, 3)15, (1, 1, 2, 2, 3, 3)16, (1, 2, 2, 2, 3, 3)17,

(2, 2, 2, 2, 3, 3)18,
(1, 1, 1, 3, 3, 3)19, (1, 1, 2, 3, 3, 3)20, (1, 2, 2, 3, 3, 3)21, (2, 2, 2, 3, 3, 3)22,
(1, 1, 3, 3, 3, 3)23, (1, 2, 3, 3, 3, 3)24, (2, 2, 3, 3, 3, 3)25,
(1, 3, 3, 3, 3, 3)26, (2, 3, 3, 3, 3, 3)27, (3, 3, 3, 3, 3, 3)28,
(1, 1, 1, 1, 1, 4)29, (1, 1, 1, 1, 2, 4)30, (1, 1, 1, 2, 2, 4)31, (1, 1, 2, 2, 2, 4)32,

(1, 2, 2, 2, 2, 4)33, (2, 2, 2, 2, 2, 4)34,
(1, 1, 1, 1, 3, 4)35, (1, 1, 1, 2, 3, 4)36, (1, 1, 2, 2, 3, 4)37, (1, 2, 2, 2, 3, 4)38,

(2, 2, 2, 2, 3, 4)39,
(1, 1, 1, 3, 3, 4)40, (1, 1, 2, 3, 3, 4)41, (1, 2, 2, 3, 3, 4)42, (2, 2, 2, 3, 3, 4)43,
(1, 1, 3, 3, 3, 4)44, (1, 2, 3, 3, 3, 4)45, (2, 2, 3, 3, 3, 4)46,
(1, 3, 3, 3, 3, 4)47, (2, 3, 3, 3, 3, 4)48, (3, 3, 3, 3, 3, 4)49,
(1, 1, 1, 1, 4, 4)50, (1, 1, 1, 2, 4, 4)51, (1, 1, 2, 2, 4, 4)52, (1, 2, 2, 2, 4, 4)53,

(2, 2, 2, 2, 4, 4)54,
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(1, 1, 1, 3, 4, 4)55, (1, 1, 2, 3, 4, 4)56, (1, 2, 2, 3, 4, 4)57, (2, 2, 2, 3, 4, 4)58,
(1, 1, 3, 3, 4, 4)59, (1, 2, 3, 3, 4, 4)60, (2, 2, 3, 3, 4, 4)61,
(1, 3, 3, 3, 4, 4)62, (2, 3, 3, 3, 4, 4)63, (3, 3, 3, 3, 4, 4)64,
(1, 1, 1, 4, 4, 4)65, (1, 1, 2, 4, 4, 4)66, (1, 2, 2, 4, 4, 4)67, (2, 2, 2, 4, 4, 4)68,
(1, 1, 3, 4, 4, 4)69, (1, 2, 3, 4, 4, 4)70, (2, 2, 3, 4, 4, 4)71,
(1, 3, 3, 4, 4, 4)72, (2, 3, 3, 4, 4, 4)73, (3, 3, 3, 4, 4, 4)74,
(1, 1, 4, 4, 4, 4)75, (1, 2, 4, 4, 4, 4)76, (2, 2, 4, 4, 4, 4)77,
(1, 3, 4, 4, 4, 4)78, (2, 3, 4, 4, 4, 4)79, (3, 3, 4, 4, 4, 4)80,
(1, 4, 4, 4, 4, 4)81, (2, 4, 4, 4, 4, 4)82, (3, 4, 4, 4, 4, 4)83, (4, 4, 4, 4, 4, 4)84�

_����	� m = 5 �� X = [1, 5]n� "�������� �� �H�G�� ��� ����� s = |X∗| �	 �
��� ��
(n + 4)(n + 3)(n + 2)(n + 1)/(24)� ����� 15, 35, 70, 126 ��� n = 2, 3, 4, 5� ��	����������
��� 	�� X∗ �	 ������ ��������
������ ������� �	 ������	�

n = 2c
(1, 1)1, (1, 2)2, (2, 2)3,
(1, 3)4, (2, 3)5, (3, 3)6,
(1, 4)7, (2, 4)8, (3, 4)9, (4, 4)10,
(1, 5)11, (2, 5)12, (3, 5)13, (4, 5)14, (5, 5)15�

n = 3c
(1, 1, 1)1, (1, 1, 2)2, (1, 2, 2)3, (2, 2, 2)4,
(1, 1, 3)5, (1, 2, 3)6, (2, 2, 3)7,
(1, 3, 3)8, (2, 3, 3)9, (3, 3, 3)10,
(1, 1, 4)11, (1, 2, 4)12, (2, 2, 4)13,
(1, 3, 4)14, (2, 3, 4)15, (3, 3, 4)16,
(1, 4, 4)17, (2, 4, 4)18, (3, 4, 4)19, (4, 4, 4)20,
(1, 1, 5)21, (1, 2, 5)22, (2, 2, 5)23,
(1, 3, 5)24, (2, 3, 5)25, (3, 3, 5)26,
(1, 4, 5)27, (2, 4, 5)28, (3, 4, 5)29, (4, 4, 5)30,
(1, 5, 5)31, (2, 5, 5)32, (3, 5, 5)33, (4, 5, 5)34, (5, 5, 5)35�

n = 4c
(1, 1, 1, 1)1, (1, 1, 1, 2)2, (1, 1, 2, 2)3, (1, 2, 2, 2)4, (2, 2, 2, 2)5,
(1, 1, 1, 3)6, (1, 1, 2, 3)7, (1, 2, 2, 3)8, (2, 2, 2, 3)9,
(1, 1, 3, 3)10, (1, 2, 3, 3)11, (2, 2, 3, 3)12,
(1, 3, 3, 3)13, (2, 3, 3, 3)14, (3, 3, 3, 3)15,
(1, 1, 1, 4)16, (1, 1, 2, 4)17, (1, 2, 2, 4)18, (2, 2, 2, 4)19,
(1, 1, 3, 4)20, (1, 2, 3, 4)21, (2, 2, 3, 4)22,
(1, 3, 3, 4)23, (2, 3, 3, 4)24, (3, 3, 3, 4)25,
(1, 1, 4, 4)26, (1, 2, 4, 4)27, (2, 2, 4, 4)28,
(1, 3, 4, 4)29, (2, 3, 4, 4)30, (3, 3, 4, 4)31,
(1, 4, 4, 4)32, (2, 4, 4, 4)33, (3, 4, 4, 4)34, (4, 4, 4, 4)35,
(1, 1, 1, 5)36, (1, 1, 2, 5)37, (1, 2, 2, 5)38, (2, 2, 2, 5)39,
(1, 1, 3, 5)40, (1, 2, 3, 5)41, (2, 2, 3, 5)42,
(1, 3, 3, 5)43, (2, 3, 3, 5)44, (3, 3, 3, 5)45,
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(1, 1, 4, 5)46, (1, 2, 4, 5)47, (2, 2, 4, 5)48,
(1, 3, 4, 5)49, (2, 3, 4, 5)50, (3, 3, 4, 5)51,
(1, 4, 4, 5)52, (2, 4, 4, 5)53, (3, 4, 4, 5)54, (4, 4, 4, 5)55,
(1, 1, 5, 5)56, (1, 2, 5, 5)57, (2, 2, 5, 5)58,
(1, 3, 5, 5)59, (2, 3, 5, 5)60, (3, 3, 5, 5)61,
(1, 4, 5, 5)62, (2, 4, 5, 5)63, (3, 4, 5, 5)64, (4, 4, 5, 5)65,
(1, 5, 5, 5)66, (2, 5, 5, 5)67, (3, 5, 5, 5)68, (4, 5, 5, 5)69, (5, 5, 5, 5)70�

n = 5c
(1, 1, 1, 1, 1)1, (1, 1, 1, 1, 2)2, (1, 1, 1, 2, 2)3, (1, 1, 2, 2, 2)4, (1, 2, 2, 2, 2)5,

(2, 2, 2, 2, 2)6,
(1, 1, 1, 1, 3)7, (1, 1, 1, 2, 3)8, (1, 1, 2, 2, 3)9, (1, 2, 2, 2, 3)10, (2, 2, 2, 2, 3)11,
(1, 1, 1, 3, 3)12, (1, 1, 2, 3, 3)13, (1, 2, 2, 3, 3)14, (2, 2, 2, 3, 3)15,
(1, 1, 3, 3, 3)16, (1, 2, 3, 3, 3)17, (2, 2, 3, 3, 3)18,
(1, 3, 3, 3, 3)19, (2, 3, 3, 3, 3)20, (3, 3, 3, 3, 3)21,
(1, 1, 1, 1, 4)22, (1, 1, 1, 2, 4)23, (1, 1, 2, 2, 4)24, (1, 2, 2, 2, 4)25, (2, 2, 2, 2, 4)26,
(1, 1, 1, 3, 4)27, (1, 1, 2, 3, 4)28, (1, 2, 2, 3, 4)29, (2, 2, 2, 3, 4)30,
(1, 1, 3, 3, 4)31, (1, 2, 3, 3, 4)32, (2, 2, 3, 3, 4)33,
(1, 3, 3, 3, 4)34, (2, 3, 3, 3, 4)35, (3, 3, 3, 3, 4)36,
(1, 1, 1, 4, 4)37, (1, 1, 2, 4, 4)38, (1, 2, 2, 4, 4)39, (2, 2, 2, 4, 4)40,
(1, 1, 3, 4, 4)41, (1, 2, 3, 4, 4)42, (2, 2, 3, 4, 4)43,
(1, 3, 3, 4, 4)44, (2, 3, 3, 4, 4)45, (3, 3, 3, 4, 4)46,
(1, 1, 4, 4, 4)47, (1, 2, 4, 4, 4)48, (2, 2, 4, 4, 4)49,
(1, 3, 4, 4, 4)50, (2, 3, 4, 4, 4)51, (3, 3, 4, 4, 4)52,
(1, 4, 4, 4, 4)53, (2, 4, 4, 4, 4)54, (3, 4, 4, 4, 4)55, (4, 4, 4, 4, 4)56,
(1, 1, 1, 1, 5)57, (1, 1, 1, 2, 5)58, (1, 1, 2, 2, 5)59, (1, 2, 2, 2, 5)60, (2, 2, 2, 2, 5)61,
(1, 1, 1, 3, 5)62, (1, 1, 2, 3, 5)63, (1, 2, 2, 3, 5)64, (2, 2, 2, 3, 5)65,
(1, 1, 3, 3, 5)66, (1, 2, 3, 3, 5)67, (2, 2, 3, 3, 5)68,
(1, 3, 3, 3, 5)69, (2, 3, 3, 3, 5)70, (3, 3, 3, 3, 5)71,
(1, 1, 1, 4, 5)72, (1, 1, 2, 4, 5)73, (1, 2, 2, 4, 5)74, (2, 2, 2, 4, 5)75,
(1, 1, 3, 4, 4)76, (1, 2, 3, 4, 5)77, (2, 2, 3, 4, 5)78,
(1, 3, 3, 4, 5)79, (2, 3, 3, 4, 5)80, (3, 3, 3, 4, 5)81,
(1, 1, 4, 4, 5)82, (1, 2, 4, 4, 5)83, (2, 2, 4, 4, 5)84,
(1, 3, 4, 4, 5)85, (2, 3, 4, 4, 5)86, (3, 3, 4, 4, 5)87,
(1, 4, 4, 4, 5)88, (2, 4, 4, 4, 5)89, (3, 4, 4, 4, 5)90, (4, 4, 4, 4, 5)91,
(1, 1, 1, 5, 5)92, (1, 1, 2, 5, 5)93, (1, 2, 2, 5, 5)94, (2, 2, 2, 5, 5)95,
(1, 1, 3, 5, 5)96, (1, 2, 3, 5, 5)97, (2, 2, 3, 5, 5)98,
(1, 3, 3, 5, 5)99, (2, 3, 3, 5, 5)100, (3, 3, 3, 5, 5)101,
(1, 1, 4, 5, 5)102, (1, 2, 4, 5, 5)103, (2, 2, 4, 5, 5)104,
(1, 3, 4, 5, 5)105, (2, 3, 4, 5, 5)106, (3, 3, 4, 5, 5)107,
(1, 4, 4, 5, 5)108, (2, 4, 4, 5, 5)109, (3, 4, 4, 5, 5)110, (4, 4, 4, 5, 5)111,
(1, 1, 5, 5, 5)112, (1, 2, 5, 5, 5)113, (2, 2, 5, 5, 5)114,
(1, 3, 5, 5, 5)115, (2, 3, 5, 5, 5)116, (3, 3, 5, 5, 5)117,
(1, 4, 5, 5, 5)118, (2, 4, 5, 5, 5)119, (3, 4, 5, 5, 5)120, (4, 4, 5, 5, 5)121,
(1, 5, 5, 5, 5)122, (2, 5, 5, 5, 5)123, (3, 5, 5, 5, 5)124, (4, 5, 5, 5, 5)125, (5, 5, 5, 5, 5)126�
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Алескеров Ф.Т., Чистяков В.В., Калягин В.А. 
Многокритериальные пороговые алгоритмы принятия решений: Препринт 

WP7/2010/02. – М.: Издательский дом Государственного университета – Высшей школы 
экономики, 2010. – 40 с. (на англ. яз.).

Достаточно часто на практике альтернативы оцениваются n ≥ 2 оценками x
1
, ..., x

n
, 

каждая их которых может принимать целое значение от 1 («плохо») до m ≥ 3 («отлично»). 
Поэтому возникает проблема ранжировать элементы множества X, состоящего из всех 
n-мерных векторов с целочисленными компонентами от 1 до m. В предположении, 
что низкая оценка не может быть компенсирована никаким числом высоких оценок, 
мы вводим понятие перечислительной функции предпочтений для слабого порядка 
на X, порожденного пороговым правилом, и находим явное значение этой функции. 
Это позволяет описать все классы эквивалентности и классы безразличия этого 
слабого порядка. Дается алгоритм упорядочения монотонных представителей классов 
эквивалентности. Построена модель, двойственная к рассматриваемой, и для нее 
приведен явный вид двойственной перечислительной функции предпочтений и алго
ритм упорядочения соответствующих монотонных представителей.
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 Оформление. Издательский дом  
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